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Paper II : 2-Political Science

Sl. No.1
QBID:12001

‘A democracy is more than a form of government. it is a mode of associated living’. who said this?

. Jawaharlal Nehru
. John Locke

. John Dewey

. Gandhi

(1) 1

) 2

(3) 3

(4) 4
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2,914 <<k
=
3. 99 e
4. 77T
1) 1
2) 2
3) 3
4) 4
1[Option ID=37501] Question Description : political_science_political science _set 1_english_q1
2[Option ID=37502]

3[Option ID=37503]
4[Option ID=37504]

Sl. No.2
QBID:12002

Sophie or Sophia is a character in which of the following books?

1. Republic
2. A Vindication of the rights of women
3. The Archaeology of knowledge
4. The human condition
1) 1
(2) 2
(3) 3
(4) 4

A6 SToAT Aifear fhd |§ & 0 J5as &1 TF T 27

I-I [ad F&(‘-
=, - -
2.4 I%Ir@-‘ﬂ%qi-‘-{ HAT® 7 cH AT® FHA
3.7 AMfFAATH ATE AN
4.7 gYAA S
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=37505] Question Description : political_science_political science _set 1_english_q2
2[Option ID=37506]
3[Option ID=37507]
4[Option ID=37508]

Sl. No.3
QBID:12003
Who among the following has used the terms internal restriction and external restriction in the discourse of multiculturalism?

1. Bhikhu Parekh
2. Will Kymlicka
3. Okin
4. B. Berry

1) 1

2) 2

(3) 3

4) 4
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1[Option ID=37509] Question Description : political_science_political science _set 1_english_q3
2[Option ID=37510]
3[Option ID=37511]
4[Option ID=37512]

Sl. No.4
QBID:12004

For whom among the following M.B. Foster has stated that his political thought represents more of a Pagan revival than a Protestant
religion?

1. Machiavelli
2. Hobbes
3. Bentham
4, I.S. Mill
(1) 1
(2) 2
(3) 3
(4) 4

f=ifrd | 4 freeh fau ua sl ®iEe 4 #al 2 6 991 ToHias fHeEr giess-e g9 il Squar =
R AT TEqd AT 27
1. Aferamadt
2. BisH
3. 99
4. 9.0, fua
1 1
) 2

3) 3
(4) 4

1[Option ID=37513] Question Description : political_science_political science _set 1_english_q4
2[Option ID=37514]
3[Option ID=37515]
4[Option ID=37516]

Sl. No.5
QBID:12005

“Qur souls have been corrupted in proportion to the advancement of our sciences and our arts towards perfection™. It is mentioned in :

1. Discourse on the Science and Arts
2. Revolt against reason

3. The Wealth of Nation
4. The Theory of Moral Sentiments
1) 1
(2) 2
3) 3
(4) 4
“EHE SATCHT quiaT it ST o S AT §9R (93 Ud g5 FATSl & S99 & S 9Id | 92 8 73 27 T8
™ ] e : { 090 . o
feifera 5 sfgfaa 21
1. fem=id <14 7 T we e
2. faiee e foH
3.7 Ao HATE 7
4.7 oA ATE g qudiHed
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=37517]
2[Option ID=37518]

3[Option ID=37519]
4[Option ID=37520]

Question Description : political_science_political science _set 1_english_q5
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Sl. No.6
QBID:12006

1. Politics
2. Nicomachean

4. Apology
1) 1
(2) 2
@3) 3
(4) 4

1. aitctesd
ﬂﬁ \\FT

4. SAYTATSIT
1 1
(2) 2
(3) 3
(4) 4
1[Option ID=37521]
2[Option ID=37522]

3[Option ID=37523]
4[Option ID=37524]

3. Eudemian Ethics

Which one of the following is not Aristotle’s work?

efarad § & FH-H1 0F S H Fa (=) T 87

3. 3gefaa ufuam

Question Description : political_science_political science _set 1_english_q6

Sl. No.7
QBID:12007

1. Matter
2. Ideas
3. Raw Material
4, Darkness
(1) 1
(2) 2
3) 3
(4) 4

Which one of the following is perfect, eternal and fixed according to Plato?

1. 9214

2. famm

4. TTHE
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37525]
2[Option ID=37526]

3[Option ID=37527]
4[Option ID=37528]

Il % SATAN fFAfatEd § 9 ®i9 o I, vEd U HEd 27

3. AT ARt

Question Description : political_science_political science _set 1_english_q7

Sl. No.8
QBID:12008
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. Nicomachus

. Plato

. Confucius

. Chou dynasty

B

(1) 1
2) 2
3) 3
(4) 4

The *Analects’ is related to :

1[Option ID=37529]
2[Option ID=37530]
3[Option ID=37531]
4[Option ID=37532]

ik @z (TATcaen) Fefafad 5 o feag gafaa 27
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Sl. No.9
QBID:12009

o =

S

1) 1
(2) 2
(3) 3
(4) 4

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=37533]
2[Option ID=37534]

3[Option ID=37535]
4[Option ID=37536]

When and at which place in South Africa the Indians assembled. demonstrated and took the oath of passive resistance

. September 1906, Johannesburg
. October 1906, Natal

. September 1905, Pretoria

. October 1905, Pietermaritzburg

1. fds 1906, SiEgEm

2. STFEI 1906, 2T

3. fads 1905, fraifan

4. STFZIT 1905, ez

Question Description : political_science_political science _set 1_english_q9

2

28707 ST | WA 210 A 7 Fal W 973 (631 T UA 399 2RI U sl R Iiaid - &
fafeaa oy <ff 157

Sl. No.10
QBID:12010

N E V]

. J.P. Narayan
(1) 1
(2) 2
3) 3
(4) 4

Who among the following launched the *Self-Respect Movement” in 19257

1. Dr. B.R. Ambedkar
2. Mahatma Phule
. E.V. Ramaswami Naicker
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2. HETCHT F
3. 2. 4], qHEAH TEE
4. 9.9, Ry

1 1

) 2

(3) 3

(4) 4

1[Option ID=37537] Question Description : political_science_political science _set 1_english_q10
2[Option ID=37538]
3[Option ID=37539]
4[Option ID=37540]

Sl. No.11
QBID:12011

Who among the following categorized laws into two types : the Shariat and the Zawabit?

. Dara Shukoh
. Basava

. Abul Fazl

. Zia Barani
(1) 1

2) 2

3) 3

(4) 4

ffafaa | & forae fafar (FEEr) #i 21 IR, 090 T3 S35 €9 H i (a1 917
1. 37 frehig

2. 51441

3. ST Fo
4. T =it

1) 1
(2) 2
3) 3
(4) 4

B

1[Option ID=37541] Question Description : political_science_political science _set 1_english_q11
2[Option ID=37542]
3[Option ID=37543]
4[Option ID=37544]

SlI. No.12
QBID:12012

When did M.N. Roy dismantle his Radical Democratic Party?

. 1940
L1945
. 1948
. 1950
(11
) 2
(3) 3
(4) 4

feifra 5 @ 559 a9 § TH.UH. TF § A9 e SHEREH a1+ Wied (Tam) = 7Zar?

o =

R

. 1940
. 1945
. 1948
. 1950
1) 1
2) 2
3) 3
4) 4

R I T S

1[Option ID=37545] Question Description : political_science_political science _set 1_english_q12
2[Option ID=37546]
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3[Option ID=37547]
4[Option ID=37548]

Sl. No.13

QBID:12013
Why Robert Nozick agrees with anarchist assertions regarding the position of State?
Pick the incorrect argument

1. Tt is intrinsically immoral.
2. It maintains monopoly on the use of force.
3. It violates individual rights.
4. It’s motive is welfare of citizens.
1) 1
(2) 2
(3) 3
(4) 4

TaTe Aok T3 & FEH0] % a1 H SOTFAEE] SAHFI 8 741 9g9d 2 ¢ Fefanad 3 d Tad ak &

afa

1. 98 Saqd ®9 A S(qF 2
2. 9% A % AN W US40 Tgal 2

3. 98 AT ATGRRl i IZH Ll 2l
4. SEHT ATHYTEH AATR H1 FHedr 2|

1) 1
2) 2
3) 3
4) 4

1[Option ID=37549] Question Description : political_science_political science _set 1_english_q13
2[Option ID=37550]
3[Option ID=37551]
4[Option ID=37552]

Sl. No.14
QBID:12014

Which of the following statements is not correct regarding Union Public Service Commission (UPSC)?

. The President of India can remove the Chairman of UPSC.
. In case of removal of Chairman, the President has to refer the matter to the Supreme Court for an enquiry.
3. An Individual Ministry or Department has no power to reject the advice of the UPSC.
4. The State Governments can ask the UPSC to conduct the examinations for concerned state.
1) 1
(2) 2
(3) 3
(4) 4

fefafiaa § @ F9-w1 #9= @ i dar A= (9 wm ) & an g ad 42 27

1. 9T % Tgafd U9 did Y1 AT & 46T i 97 & 521 AFA 3l

2, ALAY (IFHA) I g2W I H fFuld H, agafd 39 AW S 2q IHGH e F HE 4T F=a 2|

3. Tt Hemerd svvan faam =61 99 did a1 Al aatg #i 981 94 Fi wifw 981 a 2|

4. %1% ot ToT TR, U9 did Y4l MY Fetad Ued & [au qheiedl & Teifad w4 & [au e 1 A6 &
11
) 2

(3) 3
(4) 4

b =

1[Option ID=37553] Question Description : political_science_political science _set 1_english_q14
2[Option ID=37554]
3[Option ID=37555]
4[Option ID=37556]

Sl. No.15
QBID:12015
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Which of the following statements is correct regarding the vote value of a member of Parliament in presidential election?

Total value of votes of all MLAs of all States & UTs
Total Members of Parliament
Total value of votes of all MLAs of all States & UTs

Total Number of elected Members of Parliament
Total value of votes of all votersof the country

3. Vote Value of MP = :
Total Members of Parliament
Total value of votes of all MLAs of all State & UTs
Total Members of Lok Sabha

e

. Vote Value of MFP =

2. Vote Value of MP =

4. Vote Value of MP =

(1) 1
(2) 2
(3) 3
(4) 4

Tgatd A | TR TU7 975 % 59 god & UAd § eaiEd 5 3 #9 91 w99 T8 2 7

Tt Tsa vd w9 U9 Wi & & afl faam e wee % ond = B e
ot T=a1 Ud Tg T=g e &9 % @ft fHem @w e % oua W 3 A

l. soe e F Oa 47 =

2. TEE 9eE W OAd oA = —— — ;
e, % I T8 GEE B e

. <71 = T TaerareT F al @ Fo ToE

3. HHG FGEF H A0 46T = —
THE + Fel T

: Tl US4 U@ TE ST Wihd &9 % o Fum a9 g & A W g 0o

4. mue veem = HE e =
TEFE T e HE A

1 1
2) 2
3) 3
(4) 4

1[Option ID=37557] Question Description : political_science_political science _set 1_english_q15
2[Option ID=37558]
3[Option ID=37559]
4[Option ID=37560]

Sl. No.16
QBID:12016

Which one of the following fundamental duty is inserted by 86th Constitutional Amendment in Article 51-A?

. To strive towards excellence in all spheres of individual and collective activity.
. To provide opportunities for education by the parents to their child.

. To develop the scientific temper. humanism and spirit of inquiry and reform.

. Respect to the National Flag and Symbols.

o =

S )

1) 1
2 2
3) 3
(4) 4

ffafaa 7 @ =19 a1 #ifas Fd=a s63 Afaar aiad & g SI=37 51-T H Sfigr @ 87

1. FAMHT U7 AF(eF FEFAr & T4 &30 § Ieheal W A F 59\ F
2. ATAT-Toar R S0 sT= I % STE WA
3. AFNF HATE, HHAIAAER q91 =31 Fl 9E1 U gari & HHEd #1
4. TEA AT UF YAl 1 T FAI

1 1

) 2

3) 3
(4) 4

1[Option ID=37561] Question Description : political_science_political science _set 1_english_q16
2[Option ID=37562]
3[Option ID=37563]
4[Option ID=37564]

Sl. No.17
QBID:12017
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Which are the six minority religious communities notified by the National Commission for Minorities (NCM) setup by the Union
Government under the National Commission for Minorities Act 19927

1. Muslims. Christians. Sikhs. Buddhists. Zorastrians, Sindhis
2. Muslims. Christians. Sikhs. Buddhists. Sindhis. Bahais

3. Muslims. Christians. Sikhs. Sindhis. Bahais. Jews

4, Muslims. Christians. Sikhs. Buddhists. Zorastrians and Jains

1 1
) 2
(3) 3
(4) 4
U SAeqaisdF AEN AG=a9, 1992 & Fad &3 GTH gHT Mied TE SAeqaisdes A= (uF o

UH) g1 FEffEd § ¥ FE 9 B:F 9ibe AoRiemE aEE Aty o 1 8 e

1. gfeas, sams, faa, d@ig, o, foedt
4 Hfeem, sums, fawa, =g, o, 39

1[Option ID=37565] Question Description : political_science_political science _set 1_english_q17
2[Option ID=37566]
3[Option ID=37567]
4[Option ID=37568]

Sl. No.18
QBID:12018

Who among the following conducts the elections at Polling Station?

1. Polling Agent

2. Presiding Officer
3. Returning Officer
4. Revenue Officer

1) 1
(2) 2
3) 3
4) 4

A ¥9d W I H FEiad faiad J d H F=a e v

1. qeAT AqFar

e st
3. fratem stfasrd
4. T Aftaw

1 1
(2) 2
3) 3
4) 4

o]

1[Option ID=37569] Question Description : political_science_political science _set 1_english_q18
2[Option ID=37570]
3[Option ID=37571]
4[Option ID=37572]

Sl. No.19
QBID:12019

Who among the following is pioneer of Public Interest Litigation?

. Justice S.N. Benarji

. Justice PN. Bhagwati
. Justice Hingorani

. Justice Ranjan Gogoi

b =

S

(1) 1
2) 2
3) 3
4) 4
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(1) 1
) 2
(3) 3
(4) 4

1[Option ID=37573] Question Description : political_science_political science _set 1_english_q19
2[Option ID=37574]
3[Option ID=37575]
4[Option ID=37576]

Sl. No.20
QBID:12020

Who among the following contributed to the framing of National Rural Employment Guarantee Act?

. Jean Drieze

. Aruna Roy

. Medha Patkar
. Baba Amte
(1) 1

(2) 2

(3) 3

(4) 4

T ITHOT TSR RS A A B 99 § AEtatad 5 | e anee G o

R

1[Option ID=37577] Question Description : political_science_political science _set 1_english_q20
2[Option ID=37578]
3[Option ID=37579]
4[Option ID=37580]

Sl. No.21
QBID:12021

Which one of the following is not a principle among the originally framed six principles of ‘Citizen’s Charter Movement’?

. Choice
. Value
. Accountability

. Quantity
1) 1
(2) 2
(3) 3
(4) 4

AT =1E SAFadT & U 9ot ®9 @ e 10 ©: g § o fefataa wa-ar o fage 2 27

b =

o
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1[Option ID=37581] Question Description : political_science_political science _set 1_english_q21
2[Option ID=37582]
3[Option ID=37583]
4[Option ID=37584]
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Sl. No.22
QBID:12022

Which of the following amendment is related to ‘anti-defection’?

. 515 Amendment

. 5284 Amendment
53 Amendment
. 50t Amendment
(1) 1

(2) 2

(3) 3

4) 4

fF=fafaa | | #1491 gedd FasEa-fata: | getad 27

o =

= v

1. 5141 gurad
2. 5271 guned
3. 5341 gumed
4. 5941 g

1) 1

2) 2

(3) 3

4) 4

1[Option ID=37585] Question Description : political_science_political science _set 1_english_q22
2[Option ID=37586]
3[Option ID=37587]
4[Option ID=37588]

Sl. No.23
QBID:12023

The four Ps in the 4 Ps theory of departmentalization as advocated by Luthur Gullick are

Purpose, Persons, Place, Process

Persons, Place, Process and Programmes

. Process, People, Policies and Perception
4. People, Public, Problems and Perception

11

(2) 2

(3) 3

(4) 4

AR fer gr wfafaa fwrfie % 4 fagma 9 =n o w aed 2

1. 3299, =41, TIH, I
2. =k, T, iFAT N HEHFA
3, afsran, @, Hifast A1 e
4. AR, HANHH, U ST =™
1 1
) 2

3) 3
(4) 4

|
2
3

1[Option ID=37589] Question Description : political_science_political science _set 1_english_q23
2[Option ID=37590]
3[Option ID=37591]
4[Option ID=37592]

SlI. No.24
QBID:12024

According to Follett the difference between ‘power’ and ‘authority” is

Power exists when orders are obeyed irrespective of resistance, authority exists when orders obeyed voluntarily.

1.
2. Power can never be delegated. authority can be delegated.
Authority exists when orders are obeyed irrespective of resistance. power exists when orders obeyed by force.

3.
4. Authority can never be delegated. power can always be delegated.




www.prepp.in rrepp

Your Personal Exams Guide

(1)
(2)
3)
(4)

- =

S A W N R

1. I a9 SAfeqeas ardl 8 S eaeen = Sfata-feaet g 9 T st 2, @ aw sfeqosa

Il 2 99 AR 1 FEIEE T (AT A 2l

W% ol et o gearEitad 48t foar o1 gear 8, ae SeAEitad S gedl 2l

3. G a9 ATEqcaa gl 8 S AR i Gfaara-0et sie 91 foar Sirar 2, 9 a9 sAfedeaas
Bl 8 99 AR H A ddqa s el 2l

4. a7 & FH ff gegEitad A8 TR S @ar 2, Wi S Ged YeaEitad A 91 kA 2

1) 1
2) 2
3) 3
(4) 4

]

1[Option ID=37593] Question Description : political_science_political science _set 1_english_q24
2[Option ID=37594]
3[Option ID=37595]
4[Option ID=37596]

Sl. No.25
QBID:12025

The literature on New Public Administration lays emphasis on

. Relevance. Relatedness. Moral Values and Equity
. Relevance. Values, Ethics and Change

. Values, Ethics, Relatedness and Self Reliance

. Relevance. Values, Equity and Change

R

1) 1
(2) 2
3) 3
(4) 4

A ST A 9 AT dlfaed Herangd o & 2491 8

1. TR, Hagar, Afaw ge s an
2. ArfERdr, g4, SfqarE i afEd
3. 74, Hifaemd, degar A e - fH
4, STETERAT, H7F, TEAT S THAd

(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=37597] Question Description : political_science_political science _set 1_english_q25
2[Option ID=37598]
3[Option ID=37599]
4[Option ID=37600]

Sl. No.26
QBID:12026

Which is the fifth stage of Policy Cyele according to Harold Lasswell?

. Promotion
. Invocation
. Application
. Intelligence

o =

E V]

1) 1
2) 2
3) 3
4) 4
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2lieE A % AR 1 § § -3 U, fAfd-=5 F 9r=dl 169w 27

1. G
2. SATEM
3. SAIEN

1) 1

) 2

(3) 3

(4) 4

1[Option ID=37601] Question Description : political_science_political science _set 1_english_q26
2[Option ID=37602]
3[Option ID=37603]
4[Option ID=37604]

Sl. No.27
QBID:12027

Which of the following Ministry is associated with Swachh Survekshan?

. Ministry of Water and Sanitation

. Ministry of Housing and Urban Affairs
. Ministry of Rural Development

. Ministry of Finance

o o=

S )

1 1
(2) 2
3) 3
(4) 4

fefafad 5 @ wH-91 93" 9o A4 AT O Garad 27

1. S UA F==3d1 qard
2. ATEEA U5 @ FE A
3, gTHIT e g3
4. a1 5™
1) 1
) 2

3) 3
4) 4

1[Option ID=37605] Question Description : political_science_political science _set 1_english_q27
2[Option ID=37606]
3[Option ID=37607]
4[Option ID=37608]

Sl. No.28
QBID:12028

Which of the following is the first state to bring Social Audit Law?

. Andhra Pradesh
. Meghalaya

. Tripura

. Chhattisgarh

R

(1) 1
2) 2
3) 3
(4) 4

At § F:H-31 38 Tl 9RdE Ued 8 9o amies goiar- At &5 a8 v

1. TG 2T
gaTd

[

= o

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=37609] Question Description : political_science_political science _set 1_english_q28
2[Option ID=37610]
3[Option ID=37611]
4[Option ID=37612]

Sl. No.29
QBID:12029

Which of the following Ministry/Aayog is associated with Good Governance Index?

. Ministry of Personnel Public Grievances and Pensions
. Ministry of Rural Development

. Ministry of Housing and Urban Affairs

. NITI Aayog

(1) 1

2) 2

(3) 3

(4) 4

frefafad & @ F9-91 Ja1aa /A ganas gusE 8 Sad 27

b =

o

[y

oL ™, [ s, ¥ *
. FIHF dih [FrEd U Y3 Ja1ad
_rHvT R 53
3. SAEYA U4 7gl w5 g
4. #Aifq s
1) 1
2) 2

3) 3
(4) 4

[

1[Option ID=37613] Question Description : political_science_political science _set 1_english_q29
2[Option ID=37614]
3[Option ID=37615]
4[Option ID=37616]

Sl. No.30
QBID:12030

Which of the following Act is also known as “Hyde Act’?

. U.S. — India Economic Co-operation Act
. U.S. — India Peaceful Atomic Energy Co-operation Act

b =

3. U.S. — India Trade Co-operation Act
4. U.S. — India Arms Trade Act

1) 1

(2) 2

(3) 3

(4) 4

fafga # 9 e AfI=H #1252 UFe % &9 5 Hl SE1 1691 27

.. U".-9Rd SATIS Tedr Atai-=H

.9, TF. ~HId Y0l TAT] Sl Aedi SArai-ae
. g.UE. -¥Hd =AM qdiT Atarad
.. UH. -9d ¥ SR SAtatad

1) 1

2) 2

3) 3
(4) 4

ey

(S

N Y

1[Option ID=37617] Question Description : political_science_political science _set 1_english_q30
2[Option ID=37618]
3[Option ID=37619]
4[Option ID=37620]

Sl. No.31
QBID:12031
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Which of the following are principles of Panchsheel?

A. Mutual respect for each other’s territorial intergrity and sovereignty
B. Mutual Non-aggression

C. Interference in cach other’s affairs

D. Equality and co-operation for mutual benefit

E. Equal Existence

Choose the most appropriate answer from the options given below :

1. (A). (B). (C) only
2. (A). (B). (D) only
3.(B). (C). (D) only
4. (C). (D). (E) only

(1) 1

(2) 2

(3) 3

4) 4

ffafiga § @ =9 @ yusfia & fage 87

A TF-7aL #i Ui smEar dR g % ufd e aeEE
B. TRET e SAATHHUI

C. UH-Z8 & AWl H gXI&y

D. TREIe: A9 & fau 9= T aedm

E. OHH #AfEdes

= fou o fasedl § @ G99 S9E TR H1 999 Sl

1. %A (A), (B). (C)
%A (A), (B). (D)
3. %A (B), (C). (D)
4.%3d (C), (D). (E)

(1) 1
2) 2
3) 3
(4) 4

o]

1[Option ID=37621] Question Description : political_science_political science _set 1_english_q31
2[Option ID=37622]
3[Option ID=37623]
4[Option ID=37624]

Sl. No.32
QBID:12032

When did a Female Police Personnel from India took part in “first-ever peace keeping operations™?

. January 2007

. February 2008
. January 2006

. February 2009
1) 1

(2) 2

(3) 3

(4) 4

wra §i et wfgen gfem Sdf = <adwem wfa samomn sfam % @i 5 o9 | fomn a7

1. SFERT 2007
ETA 2008
3. SFERT 2006
4. AT 2009

1) 1
(2) 2
3) 3
(4) 4

o =

da L

]
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1[Option ID=37625] Question Description : political_science_political science _set 1_english_q32
2[Option ID=37626]
3[Option ID=37627]
4[Option ID=37628]

Sl. No.33
QBID:12033
The “extended neighbourhood’ has become conceptual umbrella for Indian foreign policy. Which of the option given below does not come

under purview of India’s ‘extended neighbourhood’?

1. Suez Canal
2. South China Sea
3. Eastern Africa
4. The Asia Pacific
(1) 1
(2) 2
3) 3
(4) 4

Faemfta weie (vraeree Jerge) wRdta e Aifa &1 srsaroners 39 (Faved i) 59 T 2l
e fou o faeedt | @ @t feeT qra & faEdriid 92ia & FE-a7 % ofard T8 oI 87

1. 569 98

2. Zfeqor = ATE

3. AT ST

3 &% e =

4, O gema e (ufErEn Afafes)
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37629] Question Description : political_science_political science _set 1_english_q33
2[Option ID=37630]

3[Option ID=37631]
4[Option ID=37632]

Sl. No.34
QBID:12034

The foreign minister of India. S. Jaishankar has summerised India’s approach to multilateral action as anchored in five *S’s. Choose the

wrong option

. Samman (Respect)

. Samanjasya (Harmony)
. Samvad (Dialogue)

. Samriddi (Prosperity)

e L ko

(1) 1
2) 2
3) 3
(4) 4

WA & AT A 0. S J TETEE AT 6 AR H 4R % SINH F A CTE (s) % ®9 5 2

1. g9
2. HHSEH
3. 9917
4. Tt

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=37633] Question Description : political_science_political science _set 1_english_q34
2[Option ID=37634]

3[Option ID=37635]
4[Option ID=37636]

Sl. No.35
QBID:12035
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In which conference the decision to set up World Bank was taken?

. New York

. Bretton Woods
. Massacusetts

. Paris

(1) 1

2) 2

(3) 3

(4) 4

B

[

fefcifiad 9 o forg e | fva s i =94 =1 o foran man a7

1[Option ID=37637] Question Description : political_science_political science _set 1_english_q35
2[Option ID=37638]
3[Option ID=37639]
4[Option ID=37640]

Sl. No.36
QBID:12036

In which year was the United Nations set up?

. 1944
L1945
. 1946
. 1950
11
) 2
(3) 3
(4) 4

fefafad # & T a9 # T ag F S99 6 15 A7

B

1[Option ID=37641] Question Description : political_science_political science _set 1_english_q36
2[Option ID=37642]
3[Option ID=37643]
4[Option ID=37644]

Sl. No.37
QBID:12037

Who coined the term ‘containment’?

. George Kennan
. Alfred Sauvy

. George Marshal
. John Marshal
1) 1

) 2

(3) 3

(4) 4

o =

o
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A=l dd

o]

1) 1
(2) 2
(3) 3
(4) 4

§ TR e 1 TRam (FeAre) U5 i = A A Y

1. S FA
3. 9 Higte
4. S H19TA

1[Option ID=37645] Question Description : political_science_political science _set 1_english_q37
2[Option ID=37646]
3[Option ID=37647]
4[Option ID=37648]

prepp
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Sl. No.38
QBID:12038

Who categorized India as “a responsible state with advanced nuclear technology™?

1. President George W. Bush
2. President Bill Clinton

3. President Jimmy Carter

4. President Barrack Obama

1) 1
(2) 2
(3) 3
(4) 4

g
?:
ki
3

T
ﬁ,
]

1[Option ID=37649] Question Description : political_science_political science _set 1_english_q38
2[Option ID=37650]
3[Option ID=37651]
4[Option ID=37652]

1) 1
) 2
3) 3
(4) 4
fATeTiad § & TR 9T &l 39q AT SEATh AT UF SoHaEl U9 % &9 H A R oar?

Sl. No.39
QBID:12039

B

1) 1
(2) 2
(3) 3
(4) 4

Which of the following statements are true in Ecological Approach?

A. The term 'ecology’ has Greek roots.

B. Ernst Haeckel coined the term 'ecology'.

C. Andrew Dobson makes a distinction between environmentalism and ecologism.
D. Green ideology debate is a 16th century debate.

Choose the most appropriate answer from the options given below :

. (A), (B). (C) only
. (B). (C) only
.(C). (D) only
. (A). (D) only
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freafafaa 4 @ ®-9 Fom afifeafadia fewm o a8 27

A, IIifEafal o7 ZAE 5 # 2l

B. ‘Hififeafadil: sz =l 3= 2t 4 fquiiza ==

C.Uvgy ETsUA A YEEETE U qiifedfadian & qea fAHr |
D. & faamam aw-faar 16 o s 9 sga an-faans 2|

= f7u MU AT § § @eE I IO i TE I

1. %A (A), (B). (C)
2. %A (B), (C)
3. %A (C), (D)
4. FA (A), (D)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37653] Question Description : political_science_political science _set 1_english_q39
2[Option ID=37654]

3[Option ID=37655]
4[Option ID=37656]

Sl. No.40
QBID:12040

Who among the following believes that the superstructure is relatively autonomous?

A. Louis Althusser
B. Gramsci

C. Poulantazs

D. Mao Zedang

Choose the correct answer from the options given below :

1. (A) and (B) only
2.(C) and (A) only
3.(B). (C) and (D) only
4. (B) only

(1) 1

(2) 2

3) 3

(4) 4

ffafaa 7 @ =8 fFas fFvaw (F9) 2 stfagmemn (gosge=r) amfas &9 8 e e 27

A. T30 AT
B. O

C. gl

D. I3 S2mm

= f2u U faeTt § @ @@ I wEe i

Fad (A) AN (B)

aﬁlﬁ (C) AT (A)

3. %FAd (B), (C) AR (D)
4. %A (B)

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=37657] Question Description : political_science_political science _set 1_english_q40
2[Option ID=37658]
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3[Option ID=37659]
4[Option ID=37660]

Sl. No.41
QBID:12041

Which of the following statements are correct in terms of Machiavelli’s ‘The Prince’?

A. The book has been written with democratic spirit.
B. Dual morality has been established in this book.
C. The book is famous for anti secular approach.

D. The book has supported a citizen army.

Choose the most appropriate answer from the options given below :

1. (B) and (D) only
2.(A) and (C) only
3.(C) and (D) only
4. (B) and (C) only

(1) 1

(2) 2

3) 3

(4) 4

AfFATE F T 7 T F 7 § AEAfafEd § 3 FH-81 F99 T8 27

A. T8 T Alshditae qEar & arg fadt m=h 21
B. 30 T&a& H fg-Afasar & sifua f=am 7= 2|
C. 9% Jeas AT grueadn i Zfesr (suvE) % fau ufag 21
D. 98 &0 Ush ARTHE A1 & 9 H =1 &l 2l

e fau o faeedl § | T ST IO H TAd I

Fad (B) AN (D)
aﬂa (A) SR (C)
3. %4ad (C) #IT (D)
4. %A (B) N (C)

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=37661] Question Description : political_science_political science _set 1_english_q41
2[Option ID=37662]

3[Option ID=37663]
4[Option ID=37664]

Sl. No.42
QBID:12042

Which of the following sentences are correct in regards to John Locke?

A. He subscribes empiricism

B. He has written "Essay Concerning Human Understanding'.
C. He believes in limited state.

D. He is the propounder of popular sovereingty.

Choose the most appropriate answer from the options given below :

1. (A), (B), (C) only
2.(C), (D) only
3.(A), (D) only
4.(B), (C) only

1 1

) 2

(3) 3

(4) 4
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S ik & aR) H HA=fafgd § 9 -8 99 a1 a7
A 3 SHHATE & THAF 9|
B. 3214 HFE 98T 9 Gargd GUHR W Hag foar 2
c.a difaq (fafiee) =g 4 favam == 91

D3 ik dusar gl 3

= fzu o fasedl # @ G99 S9E ST H1 99 I

FA (A), (B). (C)
%%—el?—r (C). (D)
3. %A (A), (D)
4.%ad (B), (C)
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37665] Question Description : political_science_political science _set 1_english_q42
2[Option ID=37666]

3[Option ID=37667]
4[Option ID=37668]

Sl. No.43
QBID:12043

Which of the following are correct in reference to Tagore’s Philosophy?

A. Tagore was an exponent of ‘true freedom’.

B. Tagore appeared to be a seeker of eternal truth.

C. Tagore supported creative unity amongst diversity.
D. Tagore supported aggressive nationalism.

Choose the most appropriate answer from the options given below :

1. (A). (B). (C) only
2. (A). (B). (D) only
3. (B). (C). (D) only
4. (A). (C). (B). (D)

1) 1

2) 2

(3) 3

4) 4

IR % 794 % Ted A (FAfafad § 8 FH-8 T8 27

.S @@=t SAqAar & Sfaaes 91

. 2T TYAd Acd & AN SH SH|

IR T TAfear § gorTeH® U1 FI diedTad |
D. 3R SAGHME TLATE 1 TG99 |

= 75U U fAee Tl § O e S9E IOR 1 59 I

ﬁUJiD

1. %A (A), (B), (C)
2. %Ad (A), (B). (D)
3.%4ad (B), (C). (D)
4.(A), (C). (B), (D)
1 1
) 2

3) 3
(4) 4

1[Option ID=37669] Question Description : political_science_political science _set 1_english_q43
2[Option ID=37670]
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3[Option ID=37671]
4[Option ID=37672]

Sl. No.44
QBID:12044

What is the purpose of Danda Niti according to Kautilya?

A. Acquisition of unacquired

B. Preservation of the acquired

C. Maintenance of law and order within the state
D. Augmentation of the preserved

E. Fair distribution of the augmented

Choose the most appropriate answer from the options given below :

1. (A). (B). (C). (D) only
2. (B). (C). (D). (E) only
3. (A). (C). (D). (E) only
4. (A). (B). (D). (E) only

(11

2) 2

(3) 3

(4) 4

Flfced & TR ZVEAIT & 3299 HH-T 27

A. IS w1 safamEn

B. AATd &1 Wil

C.Usd & HqT FIH U =AETT F TaTd Al
D. GIf&Id 1 e

E. Gafed %1 sfea faawor

e fou o fasedl § @ 99 S9g® ST’ 1 99 i

1. F4E (A). (B). (C), (D)
2. %A (B). (C). (D). (E)
3, aﬂﬁ (A), (C). (D), (E)
A (A), (B), (D), (E)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37673] Question Description : political_science_political science _set 1_english_q44
2[Option ID=37674]

3[Option ID=37675]
4[Option ID=37676]

Sl. No.45
QBID:12045

Which of the following are functions of a political system?

A. Political Socialisation
B. Political Decay

C. Political Recruitment

D. Political Revolutions

Choose the most appropriate answer from the options given below :

1. (A) and (B) only
2. (B) and (C) only
3.(A) and (C) only
4. (B) and (D) only

1) 1

(2) 2

3) 3

4) 4
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[ ) [a}
A, TSHITAeR THTS T
B. TSI A9
C. Ui |l

o SR
D. {SHITdsh shlldaHl

= fzu o fasedl # @ G99 S9E ST H1 99 I

FA (A) AT (B)

aﬂ?—r (B) T (C)

3. %49 (A) 3 (0)

4. %A (B )afr( (D)
1
) 2
3) 3
4) 4

1[Option ID=37677] Question Description : political_science_political science _set 1_english_q45
2[Option ID=37678]
3[Option ID=37679]
4[Option ID=37680]

Sl. No.46
QBID:12046

Which of the below mentioned factors lead to revolution in a political system?

A. Severe class divisions

B. Role of intellectuals in mass mobilisation
C. Social disequilibrium

D. Strong desire for peace

E. Incremental changes

Choose the most appropriate answer from the options given below :

1. (A), (B) and (E) only
2.(B), (C) and (D) only
3. (A), (B) and (C) only
4.(A). (B), (C). (D) and (E)
1 1
(2) 2
(3) 3
4) 4

ffafad & @ 98 FE TaHide A9 § Hifaal H1 JF J9%d Fid 8 7

A. T = faarse

B. SHAT %l UHIE & | gigoiiadl I giEe
C. arHItS SHqed

D. 7iifaq &I diF s

E. 3ifigls afada

e fou o fasedl § @ 99 S9g® ST 1 99 i

L. %A (A). (B) ¥R (E)
2. %4d (B). (C) S (D)
3.%4ad (A), (B) 3R (C)
4.(A), (B). (C). (D) S (E)

1) 1
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) 2
3) 3
4) 4

1[Option ID=37681] Question Description : political_science_political science _set 1_english_q46

2[Option ID=37682]
3[Option ID=37683]
4[Option ID=37684]

Sl. No.47
QBID:12047

Which of the following statements is/are correct regarding the powers of Speaker of Lok Sabha?

A. The Anti Defection Law is applicable on the Speaker in case he decides to quit his own party.
B. The Speaker can not preside while a resolution for his removal from office is under consideration.
C. Speaker can vote in the house on any matters of his removal from the office.

Choose the correct answer from the options given below :

.(A), (B) and (C)
.(B) and (C) only
. (A) and (C) only
.(A) and (B) only
1) 1
() 2
(3) 3
4) 4

frefafaa & #19 O F9F arF 991 & oTeaa i Al F a1 § a8 2/87

A. ZA-wEd Tt Fd WiaR W A0 ard F Bigd &1 feufa 7 i stuEi=a g 21
B. 3o TGl 3U%F U7 U 521U A 1 TEA1E [Sanredi= 8 af 58 AFeqdr "8l +ar 2|
C. B % 97 ° 52U IH & (el i 99 § 98 @24 § Ha2E L g1 2l

[ Y I O

di9 72U U fAweT § 9 gE 3T B 9ge fifeu

L. (A), (B) ¥ (O)

2. %Ad (B) AN (C)
3.%ad (A) SN (O)
4.%Ad (A) FI (B)

1 1
2) 2
3) 3
4) 4

1[Option ID=37685] Question Description : political_science_political science _set 1_english_q47

2[Option ID=37686]
3[Option ID=37687]
4[Option ID=37688]

Sl. No.48
QBID:12048

Which of the following statements are correct regarding preamble of the Indian Constitution?

A. In the Berubari Case, Supreme Court said that the preamble is not part of the Constitution.
B. In the Keshavananda Bharati case, the Supreme Court said that preamble is the part of the Constitution.
C.InL.I.C. of India Case, Supreme Court said that preamble is not part of the Constitution.

Choose the correct answer from the options given below :

1. (A). (B) and (C)
2.(B) and (C) only
3. (A) and (B) only
4. (A) and (C) only

1) 1

(2) 2

(3) 3
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(4) 4

qrdta afsae & 2 # gay J feafafea 5 o #9690 w97 98 287

A. Sl A § I=aH =Eed 1 [ fman ey dfaam w5 wm A8 2

B. A= ARl HHd § I=Ia9 <aiEiad | Huig 7 6 s afaad = o v 2|

C. AR Sftad sEr fH (ua o118 #f) ama 3 s=a9 =aEed A Hom T 6 sefire dfaas o |
T 2l

Ji9 f7u U et § 8 98 ST R 9E il

1. (A). (B) ¥ (C)

2. %Aad (B) #IT (C)
3.%ad (A) 31 (B)
4. FAd (A) FT (C)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37689] Question Description : political_science_political science _set 1_english_q48
2[Option ID=37690]

3[Option ID=37691]
4[Option ID=37692]

Sl. No.49
QBID:12049

Which of the following are strengths of Globalization?

A. Promotes free trade of goods and services among the nations.

B. Strengthens the market economies of the developing world.

C. Promotes socio-economic interactions between the countries.

D. Increases economic disparities between rich and poor.

E. It does not promote human and cultural interaction between the nations.

Choose the most appropriate answer from the options given below :

(A), (B) and (C) only
(B), (C) and (D) only
.(C). (D) and ( E)only
(A), (D) and (E) only

i [
2.
3
A
1) 1
(2) 2

3) 3
4) 4

AvATFT F fErarEa o SFA J9Et T5E W 8 ¢

A Tg & e Al ud ATl % g% AR H agE A 2
B. fasrraefia fava i smeam sidssmEasti & A9l fAadt 21
C. 29N & A M- AME 37a: (a1 =1 s3mn 241 21

D. ¥ wA fede o mea snfsdes famwar 5 afz &t 2

E. 9% 2711 % 94 9419 UF GEHdF 0 5ATEl & Jieaned J8l i 2|

e fau o fasedl § | ge SUgT IO 1 9ad I

1. %A (A), (B) #HI (C)
2. FAd (B). (C) JR (D)
3.%%—%-[ (C), (D) aﬂz (E)
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37693] Question Description : political_science_political science _set 1_english_q49
2[Option ID=37694]

3[Option ID=37695]
4[Option ID=37696]

Sl. No.50
QBID:12050

According to the article 26 of the constitution of India, every religious denomiation shall have the right :

A. to establish and maintain institutions for religious and charitable purpose.
B. to manage its own atfairs in matters of religion.

C. to own and acquire movable property.

D. to manage social affairs.

E. to own and acquire immovable property.

Choose the most appropriate answer from the options given below :

1. (A). (B). (C). (D) only
2. (B). (C). (D). (E) only
3. (A). (B). (C). (E) only
4. (A). (C). (D). (E) only

1) 1

) 2

(3) 3

(4) 4

A % TG % =973 26 + AR TcdF aifdF 99 F T 59 q1d H= ATER 2 -

A OTf% U4 g4 (|Rd) 3379 2q GENSAT il T FA U STH 2mETe
B. 304 ¥ ¥ fawal @ et St & gsg F2H11)

C. T/l HUM &l &AMYeT UA 38 At 1
D
E

i s 5 ,
G JHAT (FET) F T=d R AT

. ST U i EAMHe UA 3° ATed T

e fou U fasedl § © 99 S9g® ST H1 99 i

1. A< (A). (B). (C). (D)
2. %4d (B). (C). (D). (E)
3.%Ad (A). (B). (C). (E)
4. %3 (A). (C). (D). (E)

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37697] Question Description : political_science_political science _set 1_english_q50
2[Option ID=37698]

3[Option ID=37699]
4[Option ID=37700]

Sl. No.51
QBID:12051

Which of the following is correct regarding the classical theory of administration?

A. It played a notable role in rationalizing and even stimulating production.
B. It formulated a set of concepts in administration.
C. It was the first to propound the idea that administration is a separate activity.

Choose the most appropriate answer from the options given below :

. (A) and (B) only
.(B) and (C) only
.(A) and (C) only
.(A). (B) and (C)

(ST 6

I
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1) 1
(2) 2
3) 3
(4) 4

g & Farasd (TrEE) faga % 9§ Gefafead o w59 ad 27

A. 394 foasos ud a8 9% (o scarea sifases & sam 29 avg gfas w1 g e 21
B. 50 YA § STREROTSA] & UF 998 (UH=4) % gFa5 541
C. 7% 59 fa=m =1 wfanfza = arar yom fage o f% womee o gu Tfafata 21

e fau o faeel § | g 3T IO A I

1.%ad (A) SN (B)

2. %Ad (B) #HIT (C)

3. %9 (A) 3 (O)
A), (B) F1 (C)

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37701] Question Description : political_science_political science _set 1_english_q51
2[Option ID=37702]

3[Option ID=37703]
4[Option ID=37704]

Sl. No.52
QBID:12052

According to Ferral Heady, the comparative public administration addresses which of the following concerns?

A. The search of theory

B. The urge of practical application

C. Contribution to the border field of comparative politics

D. The comparative analysis of ongoing problems of Public Administration

Choose the most appropriate answer from the options given below :

(A). (B), (C) and (D)
(A), (B) and (C) only
.(B), (C) and (D) only
(A} (C) and (D) only

1.
2
3
4.
1) 1
(2) 2

3) 3
(4) 4

I 221 & AR, qAHE A Jened efafead § o 5 92 9 gafaa 27

A. fazm i @)

B. AFEI SAIEN F AWE|

C. qaTea: TSHITG & T 9 = FEH)|

D. &% I H [GeH TeamEt 1 qaqreds [eeyo|

e o o faeedl § @ g IUgE IO 1 TEd FI

1. (A). (B). (C) 3 (D)

2. %4ad (A), (B) 31 (C)
3. %A (B), (C) ST (D)
4.%ad (A), (C) ¥R (D)

1 1
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(2) 2

(3) 3

(4) 4

1[Option ID=37705] Question Description : political_science_political science _set 1_english_q52
2[Option ID=37706]

3[Option ID=37707]
4[Option ID=37708]

Sl. No.53
QBID:12053

Which is/are not true about Public Interest Litigation (PIL)?

A. Only registered Civil Society Organisation can file a PIL.
B. PIL can be filed in Supreme Court, under Article 32.

C. PIL can be filed in High Courts under Article 226.

D. There is no court fees for filing PIL.

Choose the most appropriate answer from the options given below :

(B) and (C) only
(A) only
(D) only
(A) and (D) only

2w

(1) 1
2 2
3) 3
(4) 4

feilepa | @ SHea e (B A1 uar) % 9 5 1 a1/ w99 T8l T8 2 /a7

A. $ad Uslidrd ANTR® HHMW?Q“I%UHWF@H( &) T TFa 2l

B. Ul #118 Ud, S19=37 32 % SA=qid s=aq A J Zgd ST Il 2
C.dt 18 Ud, ATTE 226 & FA-did I ~AFAd H ARG B Yl 2l
D. W 3115 UA ®l ZIEd FH & fau #15 #ie e (F19) T8 v sma 2l

e fau o famedl § @ T IUgTE IO 1 wAA I

Fad (B) 1 (C)
ﬁaa (A)
3. %4ad (D)
4.%AA (A) SR (D)

1 1

2) 2

(3) 3

(4) 4

1[Option ID=37709] Question Description : political_science_political science _set 1_english_q53
2[Option ID=37710]

3[Option ID=37711]
4[Option ID=37712]

Sl. No.54
QBID:12054

Which of the following is/are true about amendment of RTT Act in 2019?

A. From a fixed term of five years. now the Commissioner holds office at the pleasure of Government.
B. Now, there can be more than 10 Central Information Commissioners.

C. Now. the salaries and allowances of Commissioner are also decided by the Government.

D. Now, the age of retirement of Chief Information Commissioner will be 62 years.

Choose the correct answer from the options given below :

1. (C) only
2. (A) and (B) only
3. (A) and (C) only
4. (A) and (D) only
(1) 1
(2) 2
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(3) 3
(4) 4

N 2019 H ARIATE Ataf-zm 5 fu mu gengd & a1 § HEfaiad § @ #=9 g8 27
A Ay F fAfeea smfa 3 a9 g = 97 awE 59 /E W 6 R
B. &9 10 ¥ A F4d a1 g &l a&d 2
C. 519 AFF & Aa4 Ud WA | TR g i foe s 2
D. 19 J=A o1 A $ JA-ATT 5 79 62 AN &

J9 77U o fAwed § 9 g@F s i =Ea fifsu

1. F4 (C)

2. %A (A) SR (B)
(
(

3. %Ad (A) 3 ()
4. %A (A) A (D)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37713] Question Description : political_science_political science _set 1_english_q54
2[Option ID=37714]

3[Option ID=37715]
4[Option ID=37716]

Sl. No.55
QBID:12055

What are the core values of Indian Foreign Policy?

A. Blend of idealism and realism

B. Value of Tolerance

C. Anti-imperialism and anti-colonialism
D. Territorial Expansion

E. Neighbourhood First Diplomacy

Choose the correct answer from the options given below :

1. (A), (B), (C) only

2. (A), (B), (D) only
3.(B). (C), (D) only
4.(A), (B), (D). (E) only

11

) 2

(3) 3

4) 4
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qrta faze Hifd % ga ge3 =9 87

A. AFEIAETE AR IMAATE 1 A0

B. YWl %1 o4

C. gETEArE- A S sufEvErE-fae
D. W=k faedn

E. TS HAYTH (ARES FFE) Fl TG4
e f7u U e W § OE IR 1 9Ed FI

1. %A (A). (B). (C)
2. F4d (A), (B). (D)
3. %A (B). (C). (D)

4. A (A), (B), (D). (E)
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=37717] Question Description : political_science_political science _set 1_english_q55
2[Option ID=37718]
3[Option ID=37719]
4[Option ID=37720]

Sl. No.56
QBID:12056

Which of the following are not the features of Cold War?

A. There was nuclear arms race.

B. There was a propaganda war.

C. There was economic blockade against the non-aligned countries.
D. The third world countries were directly involved in it.

Choose the correct answer from the options given below :

(A) and (B) only
(B) and (C) only
(C) and (D) only
(B) and (D) only

B

1 1
(2) 2
3) 3
4) 4

feAfataa § & ! wfia gg i faeman 38 27

A. AT BTl FI 81 o

B. YIIFET 45 4T

c.11e v 2t & Freg snfides A o)

D. diat fawa % 291 sad woaw w9 @ aftad 91

J9 72U U e 5§ 9@ I 0 9E i

FAd (A) 3N (B)
aaa (B) 31T (C)
3. %Ad (C) SR (D)
4.%Ad (B) 31 (D)

(1) 1
) 2
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3) 3
(4) 4

1[Option ID=37721] Question Description : political_science_political science _set 1_english_q56
2[Option ID=37722]
3[Option ID=37723]
4[Option ID=37724]

Sl. No.57

QBID:12057
Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as Reason (R).
Assertion (A) :  Ever since the end of World War II, international environment has been dominated by the American relations with the
Soviet Union characterized as Cold War.
Reason (R): The Cold War coloured not only American and American aligned nations’ relations with the Soviet Union and the latter’s
allies but relations of the U.S. and its allies with other non-aligned nations. as well.
In the light of the above statements, choose the correct answer from the options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4. (A) is false but (R) is true
(1) 1
2) 2
(3) 3
(4) 4

:ﬂ%a%ﬂ:{ﬁ‘lfﬂﬂ;% : Wﬂ{wgﬂ (Assertion (A)) %Wﬁ%ﬂ%ﬂﬁ@@%m(Reason(R))
FBTH

A (A) ;. fodE Bwa g &1 o=ifg = 9% ° & Sq0gE AamEo | AiEdd 99 6 a1 SHiE
qee] 1 9 @ 2, 5o #a gg & a0 % §9 § FUH (A1 S 2|

1T (R) : IMd g 7 7 FAA FAHER UA AMEFd T 6 TN STHER O Taig 291 AR JEFd a9 &
fm-gl, fes 7 72 e 211 & T19 S HiE ST 38 Ha) & =i &0 | T1-3a )

ITITE F99 F AT 3, e 20 70 fFwedi 4 9 @8 39 #1954 fifu

1. (A) & (R) 31 @cF 8 &1 (R), (A) i @l =aw=n 2
2. (A) &1 (R) ZHi @ca 8, <ifed (R), (A) i @ =amen & 2
3.(A) @cF 2, dfe (R) s1@cd 2
4.(A) o78ca 8, dfed (R) @cF 2
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37725] Question Description : political_science_political science _set 1_english_q57

2[Option ID=37726]
3[Option ID=37727]
4[Option ID=37728]

Sl. No.58
QBID:12058
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  In our time, history is that which transforms documents in to monuments.
Reason (R): The archacology of knowledge discovers the intrinsic description of the monuments.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1) 1
2) 2
(3) 3
(4) 4
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i E‘?! EXE] ﬁ"lf ma % : U AfqRI (Asser’rion (A)) & =9 4 faf@q % qi 2au IHF FHI] (Reason (R}) +

w9 H
AMgFIH (A) : =91 @99 °, 3fae@ 98 2 I % Zeam\s # SH § ®=daid Far 2|
FT (R) : T 1 Q- TH & AqHd AUH (%) F @i =2 2|

T FH9H F ATk 4, i f2u U fawedt 4 @ a9w SugE ST # 9Ed fifa

-(A) SR (R) ZHI @& & 3R (R), (A) I @& =we=n 2

-(A) SR (R) ZFI @@ 8, @l (R), (A) i @l =wen 48 2
(a) @& 2, Al (R) @21 74 2

(A) @@ 78 2, df (R) Tl 2

1) 1
(2) 2
(3) 3
4) 4

—_

-2

W

1[Option ID=37729] Question Description : political_science_political science _set 1_english_q58
2[Option ID=37730]
3[Option ID=37731]
4[Option ID=37732]

Sl. No.59
QBID:12059

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Inner contradictions of capitalism will destroy capitalism.

Reason (R): Exploitation of surplus value is the biggest contradiction of capitalism.

In the light of the above statements. choose the correct answer from the options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) is true but (R) is false

4, (A) 1s false but (R) 1s true

1) 1

) 2

3) 3

(4) 4

= Fff EOn ] ﬁ'U ma % : Ush ATHFIH (Asser’rion (A)) &+ ®9 H fdfad % i Y 3I9% HA] (Reason {R)) +
VY ﬁ: :

AFIA (A) :  doAR & Al @, 9@ F gE oA

%7 (R) : AN HoF H1 90T (F71EA) ISfaT7 F ged 921 A 2

YU YA & ATAIF |, 9 70 70 SEed § @ g8 o # wEd i

(A) ¥ (R) ZHT §A 2 T (R), (A) il @&t =am= 2

.(a) & (R) ZF1 G E, AfFF (R), (A) 1 T& == 7 8
(A) 992, AfFA (R) Tad 2

(A) AT ?, A (R) T3

1) 1
2) 2
3) 3
4) 4

—_

S

RO

1[Option ID=37733] Question Description : political_science_political science _set 1_english_q59
2[Option ID=37734]
3[Option ID=37735]
4[Option ID=37736]

Sl. No.60
QBID:12060
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Economically, the framework of the ‘Sarvodaya’ order would seek to establish a balanced and
equitable economic setup in the country.

Reason (R): J.P.(Jai Prakash) was sure to afford the first place to agricultural activities in the economic life of
the people.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1) 1
2) 2
(3) 3
4) 4

Bl F'El L] F’IU ma 3 : Uch ATqFIH (Asser’rion (A)) o+ &9 H fdfad % i LG IGH HAT] (Reason {R)) +
®TY :

AfGEIE (A) :  SATUF & -, FAEA AT FH R 29 H Uk Gqfad UF A1 A0 saawdT
EIIUA A =l TEcT Rl

FHT (R) : 9 W (SL1.) AR ok A AT § RN R S T9H S S5 HT
rEd 9l

ST FI % ATAF H, Hd 50 70 5Feai § @ gad 39 IR A1 944 I

1. (A) ¥R (R) A1 @& 8 311 (R). (A) I T&l =ame 2

2. (A) &R (R) ZF1 @& &, dfFF (R), (A) Fi 98t =aw= 72 2
3.(A) @@l 2, dfFA (R) 98l 481 2

4.(a) w& 7 2, A (R) @t 2

o »

(3) 3

(4) 4

1[Option ID=37737] Question Description : political_science_political science _set 1_english_q60
2[Option ID=37738]
3[Option ID=37739]
4[Option ID=37740]

Sl. No.61
QBID:12061

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as Reason (R).

Agsertion (A) :  Political culture is a set of beliefs and sentiments about politics as embodied in the verbal and non-verbal behaviour of
the people.

Reason (R): The typological and morphological models of political culture denote that there can be as many political cultures as the
dynamics of political development in political systems.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
. (A) is correct but (R) is not correct

. (A) is not correct but (R) is correct

b =

o

1) 1
(2) 2
3) 3
4) 4
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i E‘?! EXE] ﬁ"lf ma % : U ATHFIH (Asser’rion (A)) & =9 4 faf@q % qi 2aa IHF FHI] (Reason (R}) +
®TY :

ATHIT (A) :  TSHITGFR TEHG, TIAG & F7 § HAET S GH1¥@E 1 UF =9 2, 397 {6 @
Hifgs A1 sHilas sg9sn 7 afdfaq 21

FIT (R) : TSIq% TEH o TAHIcasF AN SIcHs SaaH (Aied) 59 919 % =aF & (% Ia-1 &l
TSI TEHaal & Tl &, et fF aeeiifas gonfaar § asifas faem S afaefiadl

I FIF & AT H, 19 70 10 fFedi § O g8 S9g® I H 999 fifau

(A) ST (R) 2T @&l 8 3 (R), (A) FI @&t =g 2

(A) & (R) 21 @&l 8, dfed (R), (A) 6t @@t =aren 78 2
.(A) @@l 2, df#A (R) T8 781 8

(A) @t & 2, dfA (R) 8 &

1)1
(2) 2
3) 3
(4) 4

[

-2

S Y

1[Option ID=37741] Question Description : political_science_political science _set 1_english_q61
2[Option ID=37742]
3[Option ID=37743]
4[Option ID=37744]

Sl. No.62

QBID:12062

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) :  Robert Dahl has suggested for cross cultural studies in Public Administration.

Reason (R): He believed that the Public Administration can escape the effects of politieal. cultural and environmental system in which it
develops.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
. (A) is correct but (R) 1s not correct

. (A) is not correct but (R) is correct

B

1) 1
2) 2
3) 3
(4) 4

i) Fff EL] f—;{U ma % : Ush ATTFIT (Assertion (A)) % =9 7 fafad % i 7au SHF HET (Reason (R)) %
®TH :

AFIA (A) : T TEA A ATF T H A0 AEFAF SAFIH H GIA 531 2l

%107 (R) : ST HAT 2 TR s gemed UsHifas, drERaF va qEEia el & g, e
7z ffaa aiar 2, Sa9 o= adr 2|

ST HIA & AT A, A4 f5u TU FFed § O a9" 9T

TR =1 == Fifag

(A) 31 (R) 31 @@ & 3R (R), (A) F wA == 2

(a) R (R) AFI @& &, <l (R), (A) I @&l =amen 78 2
(A) @dl 2, dfFa (R) wdt 48 2

. (A) @8l T 2, &l (R) w8l 2

1 1
2 2
3) 3
(4) 4

[a—

o]

R V]

1[Option ID=37745] Question Description : political_science_political science _set 1_english_q62
2[Option ID=37746]
3[Option ID=37747]
4[Option ID=37748]

Sl. No.63
QBID:12063
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Given below are two statements :

Statement (I) : Rights essentially belong to the sphere of conflicting claims between individual and the state.

Statement (II) :  Any political theory which holds that an individual cannot have certain rights *against the state’ is no theory of rights.
In the light of the above statements. choose the correct answer from the options given below :

Both Statement (I) and Statement (I) are true
Both Statement (I) and Statement (II) are false
3. Statement (I) is true but Statement (IT) is false
4. Statement (I) is false but Statement (II) is true

1) 1
(2) 2
3) 3
4) 4

49 =1 #uH f7u T g

F94 (1) : HATFR AT B T A UF TG F H59 TER-RE 2@ 9ad) &3 9 garad 24 8l
F9 (11) : i3 i ToHITas Az, AIER #1 gt 99 a9 T80 8 gl 2 " 9% (6 38H Ueg
* e =aftwl #1 3 sfasr 1 7 o ai

YT H99 & ATAR H, A9 70 U Feed § 9 98 3T Fl wE Fifeu

Rtz

1. %94 (1) &1 (1) 21 acd 2
2. %94 (1) &1 (I1) 3HT <39 2
3. %94 (1) acd 2, dfhd 99 (1) 38 2
4. %A (1) 1803 8, WA ®9F (1) T 8
1 1
(2) 2
(3) 3
4) 4
1[Option ID=37749] Question Description : political_science_political science _set 1_english_q63

2[Option ID=37750]
3[Option ID=37751]
4[Option ID=37752]

Sl. No.64
QBID:12064

Given below are two statements :

Statement (I) :  Problems of global environmental change could not have existed without modern technologies and population densities.
Statement (II) : Problems of climate change are difficult to address. because they involve both intra and inter-generational collective
action problems.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement (I) and Statement (II) are true
2. Both Statement (I) and Statement (II) are false
3. Statement () is true but Statement (II) 1s false
4. Statement (I) is false but Statement (II) is true

1)1
(2) 2
(3) 3
(4) 4

A= 21 FoF U g

F94 (1) : WWW@WWWW@ TG TIFATAT & fal
F94 (1) : amqlg qiad I TGS F GHEE FAT FHiA 2 FhiF 300 e UF SFa-TRed
241 9R I adfas fFa S gEEan mEa g 8|

ST F99 & AT °, =" 70 mu Feeew § @ @@ s # wmg Fifsw

1. %94 (1) &1 (1) 21 acd 2
2. %99 (1) SR (1) ZHT 18T 8
3. %7 (1) & 2, Al 99 (1) Saed 3
4. %94 (1) 34cF 2, Afehd &4 (1) acF 2
1 1
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(2) 2

(3) 3

(4) 4

1[Option ID=37753] Question Description : political_science_political science _set 1_english_q64
2[Option ID=37754]

3[Option ID=37755]
4[Option ID=37756]

Sl. No.65
QBID:12065

Given below are two statements :

Statement (I) :  Nehru favoured a socialistic pattern of society.

Statement (II) : Nehru's commitment to civil liberties prevented him from acecepting the idea of ‘dictatorship of the proletariat’.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement (I) and Statement (II) are true
2. Both Statement (I) and Statement (II) are false
3. Statement (I) is true but Statement (II) is false
4, Statement (I) is false but Statement (II) is true

1 1
(2) 2
3) 3
(4) 4

9 2 %uH 7 g

F7 (1) : EE o THT & HTSEE e H GE9T e

F94 () : =& ol AVHS Al & 9 Tasigal 4 378 “digRI il aFEar & faar = i
A U

YT HI9 % ATAE H, A9 70 U Fewed § 9 98l 3T Fl wEd Fifeu

1. %94 (1) <112 (1) 2FT acd 2
2. %A (1) 1 (1) 31 o0 2
3. %A (1) Tcd 2, A w99 (1) 38T 8
4. F94 (1) T8 8, AT F97 (1) T 2
1 1
) 2
3) 3
(a) 4
1[Option ID=37757] Question Description : political_science_political science _set 1_english_q65

2[Option ID=37758]
3[Option ID=37759]
4[Option ID=37760]

Sl. No.66
QBID:12066

Given below are two statements :

Statement (I) :  Party system provides normal means of fighting political battles.

Statement (II) :  One of the aims of the party system is to replace the traditional elites with new elites.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement (I) and Statement (II) are correct
2. Both Statement (I) and Statement (II) are incorrect
3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) 1s incorrect but Statement (II) is correct
(1) 1
(2) 2
3) 3
(4) 4
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He 71 e f2u o #

F94 (1) : =19 ToNfermt TeHifas: aeisar ded & el arad IAH Fdl 2

F9 (11) : =AIT Tl T U 3299 URWRS ATHST a1 i 90 SAT9amd a0 O gfqeuniod T 2|
YU 9 & ATAlF |, ™ 77U 1u fawea 9 o g8 s & wEe it

1.4 (1) o1 (11) 741 T8l 8

2. %94 (1) &N (H) 7 TAd 2
) @&l

)

3.9 (1 , <ifehd o (I1) TAd 2
4. %94 (1) TAd 8, <dfed %99 (1) F8 2
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37761] Question Description : political_science_political science _set 1_english_q66

2[Option ID=37762]
3[Option ID=37763]
4[Option ID=37764]

Sl. No.67
QBID:12067
Given below are two statements :
Statement (I) :  Exit poll is a post-election poll which is conducted when an elector walks out after casting his/her vote.
Statement (II) :  Opinion poll. is a kind of research survey which is conducted to find out the public opinion after elections.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement (I) and Statement (II) are true
2. Both Statement (I) and Statement (II) are false
3. Statement (I) is true but Statement (II) is false
4, Statement (I) is false but Statement (II) is true

(1) 1
2) 2
3) 3
4) 4

9 21 #uH 7 g

FoF (1) : [ gamEe (ofFse @) g9 & a7 @F AT JaEE 2 98 a9 aeea fRE S 2
S8l HARTAl FA9AT HAZH 4 6 o7 S1E A 2l

F9 (I1) : Ha A (SAIE qIT) TT0e G301 F1 98 YhR 2 (o0 gAEl & 915 =6 1 aal
T Bq GTfad 41 Sar 2l

SYUT F99 % AT H, A9 70 U Feew § 9 @@ 39wl wEd Fifeu

L (1) SR (1) 2T e 2

2. %9 (1) SR (1) 7 e &

3. %99 (1) acd 2, i F94 (1) 9T 2
4. 9 (1) 18 2, Al oA (1) acd 2
1 1

2) 2

(3) 3
(4) 4

1[Option ID=37765] Question Description : political_science_political science _set 1_english_q67
2[Option ID=37766]
3[Option ID=37767]
4[Option ID=37768]

Sl. No.68
QBID:12068
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Given below are two statements : Consider the following statements regarding the Vice President of India.

Statement (I) :  He serves for a five year term. But can continue to be in office, irrespective of the expiry of the term, until the successor
assumes office.

Statement (II) :  The constitution is silent on who performs the duties of the Vice-President. when a vacancy occurs in the office before
expiry of his term.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement (I) and Statement (II) are correct

2. Both Statement (I) and Statement (II) are incorrect

3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) is incorrect but Statement (II) is correct

1) 1
(2) 2
(3) 3
(4) 4

= 21 FyA fru e # ;. ura F squgufd & g=9 | FeEfafaa Fom w e fifso

FH (1) : A8 9 AN A G A T5 T A B 8 R A B dEi % An WS
TTIFHE F 97 U0 9F 98 A9 97 T a1l B T 2|

F9 (11) : afram 38 < @@ 94 2 5 suwgafa i wmmfa a9m g9 & od afe o8 ug @il g Jar g
3G Z1eal 1 FHET i F Y

I FHI F AT o, = 75U 70 fFFed § @ g9y S9E IO 6 98 Sl

L. %A (1) 1 (1) 2T ad 8

2. %9 (1) &R (1) ZHT T &
: A
)

3. %94 (1) T8 2, dAfeha = (1) 7T 2
4. %97 (1) TTed 8, A 99 (1) g8t 2

1 1
(2) 2
3) 3
(4) 4

1[Option ID=37769] Question Description : political_science_political science _set 1_english_q68
2[Option ID=37770]
3[Option ID=37771]
4[Option ID=37772]

Sl. No.69
QBID:12069

Given below are two statements :

Statement (I): The policy agenda is the sum of all political demands that a number of individuals or groups have tried to get onto policy
agenda.

Statement (II) :  The policy agenda is composed of the demands that policy makers have agreed to consider.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement (I) and Statement (II) are correct
Both Statement (I) and Statement (II) are incorrect
Statement (I) is correct but Statement (II) is incorrect
Statement (I) is incorrect but Statement (II) is correct

[

o

1 1
(2) 2
3) 3
4) 4
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A=l 21 9 fRu e E

FoA (1) :  Hifa (aife)) usier (FEge) 39 aH aeHias Je w g aan @ 9 e SvEn aga
zr Hifa (difadt) usier 8 @n 9 + fau gam fman mn e 2

w9 (1) : fifq (ciferet) ooier (FEget) 57 9 @ =741 g 2 59w w0 gq Afa-faeta
aEHd B 2l

T FIF & AT H, A9 70 M0 Fwedi § O gey S9E I H 99 fifau

1. %94 (1) &1 (11) 21 @8t 8
2. %4 (1) AR (11) 3 Tad &
)
)

3. %9 (1) @&l 8, dfhd %99 (1) 7Tad 8
4. %94 (1) Tad 8, Al saa (1) @8 2

1)1
(2) 2
3) 3
(4) 4

1[Option ID=37773] Question Description : political_science_political science _set 1_english_q69
2[Option ID=37774]
3[Option ID=37775]
4[Option ID=37776]

Sl. No.70
QBID:12070

Given below are two statements :

Statement (I) :  Both IMF and IBRD have headquarters in Washington.

Statement (II) : India’s vote share in IMF is 10%.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement (I) and Statement (II) are correct

. Both Statement (I) and Statement (II) are incorrect
3. Statement (I) is correct but Statement (II) is incorrect
4, Statement (I) is incorrect but Statement (II) is correct

11

(2) 2

(3) 3

(4) 4

9 2 %uH 7 g

F7 (1) : HAT3.UH.UE, 3R 15,501, AR ZM1 % JEArad JIered | 8l
Fo (I1) : YA # A3.UH.U%. H gq-faed1 10 gfawe 2|

IHIT HI & ATl A, A 75U 70 fFFedl § @ g8 39gF IR H 999 Hifag

[

1. %94 (1) &1 (1) 2T @8t 2
2. %94 (1) S (1) 74T Terd 2
3. %94 (1) W& 2, e w94 (I1) 7T 2
4. %[ (1) Tad 2, AT w94 (1) T8 2

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37777] Question Description : political_science_political science _set 1_english_q70
2[Option ID=37778]

3[Option ID=37779]
4[Option ID=37780]

Sl. No.71
QBID:12071
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Match List I with List II

LISTI LISTII
Books Authors
A [Between Past and Future 1. |Isaiah Berlin
B. [Vico and Herder : Two studies in the history of ideas| II. [Hannah Arendt
C. |The voice of liberal learning IT1. PViachael J. Sandel
D. [The Tyranny of Merit IV. [Michael Oakeshott

1 1
(2) 2
3) 3
(4) 4

L (A)-(I). (B)-(ID). (C)-(I1I). (D)-(IV)
2. (A)-(ID). (B)-(1). (C)-(IV). (D)~(I1I)
3. (A)-(IV). (B)-(IID). (C)-(I1). (D)~(I)
4. (A)-(IID). (B)-(II). (C)-(I). (D)-(IV)

gat-1 % @19 gei-11 #1 fFam Fife

Choose the correct answer from the options given below:

el-1
qEdh

-1
[GICED

N EECER =R T

s At

B. [ UZ 221 : g €221 5 7 (56l 1% Asieas| o

&= AN

c. [z s SAT® faaia A

IIL.

HIzha o, d-ad

p. [¢ & ATE Al

- (A)-(D), (B)-(ID), (C)~(III), (D
- (A)(ID), (B)-(1). (C)-(IV), (D
(A)(IV), (B)«(III), (C)~(ID),
(A)-(IID), (B)-(II), (C)~(T), (

LWIJ»—A

(
D
(1) 1
2 2
3) 3
(4) 4

2[Option ID=37782]
3[Option ID=37783]
4[Option ID=37784]

)-(IV)
)-(I11)

D)-(I)

)-(IV)

1[Option ID=37781] Question Description :

political_science_political science _set 1_english_q71

Hr= f2u U faeedi | @ @@ 3T 1 == Fif

pPrepp
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SlI. No.72
QBID:12072

Match List I with List IT

LISTI LISTII
Concepts Thinker
A [Virtue is knowledge I. Machiavelli
B. [Success is virtue II. [Plato
C. Knowledge is power II1. [Foucault
D. |[Power is production of intended effects| IV. [Russell

3. (A)~(IID). (B)-(I1), (C)~(IV),

1) 1
(2) 2
3) 3
4) 4

1. (A)-(IV), (B)-(III), (C)~(1), (D)~(1I)
2. (A)-(ID), (B)-(I). (C)- (III) (D)-(IV)

(D)-(I)

4. (A)-(D. (B)~(1I). (C)- (III)._ (D}w (IV)

Choose the correct answer from the options given below:



www.prepp.in

-1 % A9 -1 & e Hi

Fefi-1 s
) [ ! s
SFUROME T [ TeIdoH
A FIG\!!U[EQI NI ;E“I 8 EE il
B. [AcIdl 2 GO 2| I [t
c.fﬂ?é’f ]| \FF-\.%_I III_HQ_CF?T
D. [7TiF S’T AU gHAl Icq1aH %‘l v e

2[Option ID=37786]
3[Option ID=37787]
4[Option ID=37788]

1. (A)-(IV), (B)~(III), (C)(I), (D)~(II)
2. (A)-(II). (B)-(I), (C)~(III), (D)~(IV)
3. (A)-(III), (B)-(ID), (C)«(IV), (D)(I)
4. (A)-(I). (B)(II). (C)-(II), (D)-(IV)

e f2u o faeedt | @ @ s TEe Fifau

1[Option ID=37785] Question Description : political_science_political science _set 1_english_q72

pPrepp
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Sl. No.73
QBID:12073

Match List I with List II

LISTI LISTII
Events Years
A |Surat split I |1927
B. |Quit India Movement I1. |1919-21
C. [Non-Cooperation Movement III. 1942
D. [Mahad Satyagrah [ v J1907

(1) 1
(2) 2
3) 3
(4) 4

L (A)-(I). (B)-(ID). (C)-(I1I). (D)-(IV)
2. (A)-(IV). (B)-(IIT). (C)-(I1). (D)~(I)
3. (A)-(ID). (B)-(1). (C)-(IID). (D)-(IV)
4. (A)-(IV). (B)-(I). (C)-(I1I). (D)-(IT)

'Fﬁcr—l 'ﬂﬁcr—ﬂ
ATy I
A I EEIEE] I [1927
B. [9Td ;ﬁt\;\l 34|-':?|m-1 I1. [1919-21
C. C’HHST«?FT oJEF-Fﬁ?'FE I1I. |1942
D. [HalE dcdilz IV. [1907

1) 1

1. (A)-(I). (B)~(II). (C)~(III), (D)-(IV)
2. (A)-(IV), (B)~(III), (C)~(II), (D)-(I)
3. (A)~(ID), (B)~(I), (C)-(III), (D)~(IV)
4. (A)-(IV), (B)-(I), (C)~(III), (D)~(II)

Choose the correct answer from the options given below:

gat-1 % @19 gei-11 #1 fFam Fife

Ji= 27U U el | O EE 3 1 == Hir
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) 2
(3) 3
4) 4

2[Option ID=37790]
3[Option ID=37791]
4[Option ID=37792]

1[Option ID=37789] Question Description : political_science_political science _set 1_english_q73

pPrepp

Your Personal Exams Guide

Sl. No.74
QBID:12074

Match List I with List II

LISTI LISTII
Books Authors
A Politic;l c.haflg_e in 1}nderdex'elopecl ) I [Duvid B Aper
countries : Nationalism and Communism
B. |Political Development II. |S.N. Eisenstadt
C. |The Politics of Modernisation IIT|C.H. Dodd
D. |Tradition, Change and Modernitv IV Pohn H. Kautsky

Choose the correct answer from the options given below:

L (A)-(IV). (B)-(II). (C)-(I). (D)-(I1I)
2. (A)-(TII). (B)-(I). (C)-(ID). (D)-(IV)
3. (A)-(D). (B)-(IV). (C)-(III). (D)-(II)
4. (A)-(IV). (B)-(ITD). (C)~(I), (D)-(1I)

1) 1

) 2

3) 3

(4) 4

gei-1 & @9 -1 F fFae fifo

-1 -
qEdeh GECE)

OifeIfeshal = 3

A [ATRATE Fal L [BfAE 3. w=
HEAfATH U2 FHHH
x . .U
B. [Tifaifehcl SRS I 2
Rl

c |7 gifcAtesa sATE AleAigeRA| m [H@i.ug. 2l

D. ﬁ?ﬂ =9 Uz "l A v

J9 72U U e 5§ 9@ I 0 9E i

A)-(IV), (B)-(IL), (C)-(I), (D)-(III)
A)-(IIT), (B)-(I), (C)-(II), (D)~(IV)
A)-(I). (B)-(IV), (C)~(III), (D)-(II)
A)-(IV), (B)-(IIT), (C)-(I), (D)-(II)

B R N
— o —

(1) 1
2) 2
3) 3
4) 4

2[Option ID=37794]
3[Option ID=37795]
4[Option ID=37796]

1[Option ID=37793] Question Description : political_science_political science _set 1_english_q74

Sl. No.75
QBID:12075
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Match List I with List II

LISTI
Schedule

LISTII

Descriptions

. [Fourth Schedule | I. |Allocation of seats in Rajva Sabha

. |Tenth Schedule | II. |Provisions relating to defection

. |Seventh Schedule| II1. |Division of powers between Centre and States

] Fo] -1 K=

. |Sixth Schedule | IV. JAdministration of tribal areas in some States

1) 1
(2) 2
3) 3
(4) 4

Choose the correct answer from the options given below:

L (A)-(D). (B)-(ID). (C)-IV). (D)-(IIT)
2. (A)-(D). (B)-(11). (C)-(I1I). (D)-(IV)
3. (A)-(I0). (B)-(1). (C)-(IV). (D)~(III)
4. (A)-(I). (B)-(I). (C)-(III). (D)-(IV)

gat-1 % @19 gei-11 #1 fFam Fife

-1
n

FIE

-
fereron

A [t st | @ [oea @ aq diel w1 erEed

B. [FOAT ST | 1 [fI-a1Ad W Hetad qrEeaH

c. [amaat S m. [FE UF TsA % 959 AEAl H1 S2AN

D. [B31 SAqGET | v [T T=Al § AT &AT 1 LG

_-LUJIJr—A

(1) 1
2) 2
3) 3
(4) 4

1[Option ID=37797]
2[Option ID=37798]
3[Option ID=37799]
4[Option ID=37800]

fzw Mo faedt & @ T

- (A)-(I). (B)-(II). (C)-(IV), (D)-(I1I)
- (A)-(I), (B)-(II), (C)-(III), {D} (IV)
25
¥

(A)-(ID), (B)-(I). (C

(IV), (D)-(TIT)

(A)-(II), (B)-(I), (C (III) (D)(IV)

Question Description : political_science_political science _set 1_english_q75

T T T51 FIC

pPrepp

Your Personal Exams Guide

Sl. No.76
QBID:12076

Match List I with List IT

LISTI LISTII
[Regional Political Parties Founder leaders
A DME I |M.G. Ramachandran
B. [ATDMEK II. |[N.T. Ramarao
C. |TDP III. |C.N. Annadurai
D. [PDP IV. [Mufti Mohammad Sayeed]

1) 1
2 2
3) 3
4) 4

Choose the correct answer from the options given below:

L (A)-(D). (B)-(II). (C)-(I1I). (D)-(IV)
2. (A)-(IV). (B)-(D). (C)-(I1I). (D)-(II)
3. (A)-(IID). (B)-(I). (C)-(ID). (D)-(IV)
4. (A)-(ID). (B)-(I). (C)-(IV). (D)~(I1I)



www.prepp.in

-1 % A9 H-11 1 fFas Fife

gei-1 gei-n
QT TGS ge1|  ERYTHeR AT
A [EluFeh L fomSf . aEEe
B. [TATSEITH i 04,31, TEEE
c. [ereidt 1. .o, mq}g
p. [iZdy v [T AIERTE A7

=

B N R S R

1[Option ID=37801]
2[Option ID=37802]
3[Option ID=37803]
4[Option ID=37804]

fau o foedl 4 O Gt s & === i

. (A)-(I), (B)-(IT), (C)~(II1), (D)-(IV)
. (A)~(IV), (B)-(I), (C)-(III), (D)-(1I)
. (A)-(TID), (B)-(I), (C)-(II), (D)-(IV)
. (A)-(ID), (B)-(I). (C)-(IV), (D)-(I1I)
1) 1
(2) 2
3) 3
4) 4

Question Description : political_science_political science _set 1_english_q76

pPrepp

Your Personal Exams Guide

Sl. No

QBID:
Match List I with List II

.77

12077

" |acceptance

LISTI LISTII
Concept Thinker
A Distinction between obedience and 1 |5 Simon

Distinction between economic man I

" |mechanics of management

B. 4 ; . [Chester Barnard
and administrative man
Distinction between charishmatic St

- leader and legal- rational authority | -

D Distinction between principles and TV IMax Weber

Choose the correct answer from the options given below:

L. (A)-(D). (B)-(IID). (C)-(11). (D)-(IV)
2. (A)-(II). (B)-(III). (C)-(IV). (D)-(1)
3. (A)(ID). (B)-(D). (C)-AV). (D)-(I)
4. (A)(D. (B)-(II). (C)-IV). (D))
(1) 1
(2) 2
3) 3
(4) 4
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geft-1 @1y gefi-11 1 e i

Tei-1 Tl —m
STFYTITT a=
. N [ = =
A [ATHI-TTA9 U8 SHEEdl & 959 347 L [o=. gizEE

B. [A11%% & § ol =41 U4 eIl =AE % 951 e 1 [gEe s
c. [FiwaTs a1 va fafas- difde miver & 7= A9z |m [ue, swy, ool
D. [J<TEl & fagidl Ud a7 & 77 97 v [BF Fa

e fou o faeedt | @ @ s w6 TE fifau

- (A)~(I), (B)-(III), (C)-(II), (D)-(IV)
. (A)-(II), (B)-(III), (C)-(IV), (D)-(I)
- (A)-(ID), (B)-(I), (C)-(TV), (D)~(III)
. (A)-(I), (B)-(IIT), (C)~(IV), (D)~(II)
(1) 1
(2) 2
(3) 3
4 4

B N

1[Option ID=37805] Question Description : political_science_political science _set 1_english_q77
2[Option ID=37806]
3[Option ID=37807]
4[Option ID=37808]

Sl. No.78
QBID:12078

Match List I with List II

LISTI LISTII

Scheme Ministry
A JUITAWALA I. Ministry of Power
B. |Saubhagvam Yojana I1. PMinistry of Finance
C. |Atal Pension Yojana I ittt pf Worwmsnd CIGY

5 [Development
D. "_;anonal Bl el IV. Plinistry of Rural Development
rogramme

Choose the correct answer from the options given below:

1. (A)-(1D). (B)-(IID). (C)-(1). D)-IV)
2. (A)-(D). (B)-(II0). (C)-IV). (D))
3. (A)(IID). (B)-(1). (C-IV). (D))
4. (A)-(D). (B)-(D). (O)-(ID). (D)-IV)

1) 1

) 2

3) 3

4) 4
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qeii-1% |19 -1 F HaH Hia

-1 gei-n

TIAT AT
A [FSTACT I [3 HATeE
B [@I9FEH 9T 1 [ JAeE
cﬂ‘dﬁqﬂ?{?ﬁﬁﬁm III.W%W@W%?H—HW
D. (TG AT AEEdT FHEH| v, [T (e Jaraa

d9 fzu o fawedt § O gF I wge fifeo

. (A)-(II), (B)~(IIT). (C)-(I), (D)-(IV)
. (A)~(D), (B)-(IIT), (C)-(IV), (D)-(1II)
. (A)=(IID), (B)-(I). (C)-(IV), (D)-(II)
. (A)-(II), (B)-(I). (C)-(II), (D)-(IV)
1 1
(2) 2
3) 3
4) 4

B N R S R

1[Option ID=37809] Question Description : political_science_political science _set 1_english_q78
2[Option ID=37810]
3[Option ID=37811]
4[Option ID=37812]

prepp

Your Personal Exams Guide

Sl. No.79
QBID:12079

Match List I with List II

LISTI LIST IT
A [Indian Peace Keeping Force in Srilankal [ [Indira Gandhi
B. |Shimla Agreement II. Rajv Gandhi
C. |[Lahore Declaration 111 |Atal B. Vajpayeg]
D. |Act East Policy IV. Narendra Modi

Choose the correct answer from the options given below:

L. (A)(ID), (B)-(1). (C)-(IIL). (D)(IV)
2. (A)-D). (B)-(1D). (O)-IV). (D)-(1ID)
3. (A)-IV). (B)~(D). (C)-(I0). (D)-(D)
4. (A, (B)-(IV). (C)-(D). (D))

1) 1

) 2

3) 3

(4) 4

qeft-1% |1 gei-11 1 fAam i

Fg?ﬁ—[ p@"r—n
A |diceT H wrdim wfa s a@| o gE e
5. [FFrEeT Hﬂéﬁ?ﬂ 1 [Tt e
‘ol H@T BIER| 11, [HA 2 &Wﬂ TS|
D. [Uxd 31-_’:301% V. :ﬁiﬁ ﬁVﬂ

Hi= 27U U AeRedl | ° g8 I 6 =EE I

L. (A)-(II), (B)-(I), (C)-(III), (D)-(IV)
2. (A)-(I), (B)-(II), (C)-(IV), (D)-(III)
3. (A)~(IV), (B)-(III), (C)~(IT), (D)-(I)
4. (A)-(III), (B)-(IV), (C)-(I), (D)-(II)

1 1

2) 2

3) 3
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(4) 4

1[Option ID=37813]
2[Option ID=37814]
3[Option ID=37815]
4[Option ID=37816]

Question Description : political_science_political science _set 1_english_q79

pPrepp

Your Personal Exams Guide

Sl. No.80
QBID:12080

Match List I with List IT

LISTI LISTII

Year Summit
A 1955 1. [Bandung Summit
B. |1961 II. |Belgrade Summit
C. |1983 [I1. New Delhi Summi
D. |1998 IV. [Durban Summit

1) 1
(2) 2
3) 3
(4) 4

Choose the correct answer from the options given below:

L (A)-(II). (B)-(IIT). (C)-(IV). (D)-(I)
2. (A)-(II). (B)-(I). (C)-(II). (D)-(IV)
3. (A)-(D). (B)-(II). (C)-(IIT). (D)-(IV)
4. (A)-(IV). (B)-(ID). (C)~(I). (D)~(I1I)

-1 a9 E-11 1 fFam Fie

gei-1 -1
v forer e
A |isss I [T T9HaE T
B. |1961 1 [ieie foat e
C. [1o83 {3 et fomar aeer
D. [1998 . [2%a it aeeA

N R S R

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=37817]
2[Option ID=37818]

3[Option ID=37819]
4[Option ID=37820]

= f2u o faei 5 @ @ e o wEa fifse

. (A)-(ID), (B)-(III). (C)-(IV). (D)-(I)
. (A)~(II). (B)~(I). (C)-(II), (D)-(IV)
. (A)-(I), (B)-(II), (C)-(II1), (D)-(IV)
. (A)-(IV), (B)(II). (C)-(I), (D)~(III)

Question Description : political_science_political science _set 1_english_q80

Sl. No.81
QBID:12081

1) 1
) 2
(3) 3

Arrange the concepts in chronological order according to evolution.

A. Legal Sovereignty

B. Popular Sovereignty

C. Political Sovereignty

D. Theory of Plural Sovereignty

Choose the correct answer from the options given below :

L. (A). (D). (C). (B)
2. (A). (B). (D). (C)
3. (A). (C). (B). (D)
4. (D). (B). (A). (T)
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(4) 4

freafafaa saamonel 1 37 FFm F FawEaEr 21 8 ==afedd fifag

A. fafer s
B. TIE{SE TIHAT
C. TSI Tyl

D. 9Igd HUHdl F fagra

H= 7o U el | ° g8 3T @ == i
(A), (D), (C). (B)
A). (B). (D). (C)
A). (C), (B), (D)
D

i,
2.4
|
4. (D). (B). (A). (O)
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=37821] Question Description : political_science_political science _set 1_english_q81
2[Option ID=37822]
3[Option ID=37823]
4[Option ID=37824]

Sl. No.82
QBID:12082

Asrrange the following books according to their publication year in chronological order

A. The Archaeology of Knowledge
B. The Human Condition

C. Spheres of Justice

D. After Virtue

Choose the correct answer from the options given below :

L (B). (A). (D). (C)
2. (A). (B). (C), (D)
3.(D). (A). (B). (C)
4.(C). (D). (A). (B)

(11

2) 2

(3) 3

(4) 4

fafafaa e 1 e THEE 39 & HEFAHaR 21 § At fifa)

| THTH ATE AfEed

0 N @ F
I [
{r
£

J9 72U U e 5§ 9@ I 0 9E i

1.(B).(A). (D). (C)
2. (A), (B), (C), (D)
3. (D). (A), (B). (C)
4. (C), (D). (A). (B)
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37825] Question Description : political_science_political science _set 1_english_q82

2[Option ID=37826]
3[Option ID=37827]

4[Option ID=37828]
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Sl. No.83
QBID:12083

A. Sampurna Kranti
B. The saptang theory of State
C. Radical Humanism

D. Satyagrah
Choose the correct answer from the options given below :

L. (B). (C). (D). (A)
2. (A). (D). (C). (B)
3. (D). (A). (B). (C)
4.(A). (C). (D). (B)

(11

) 2

3) 3

(4) 4

A. TEU] RITT

B. U4 &I 91 9214
C. 30 HHAAIER

D. HeaiE

H= ffu U el | O g IO @ =Ed it

1. (B), (C), (D), (A)
2. (A), (D), (C), (B)
3. (D). (A), (B). (C)
4. (A), (C), (D). (B)
1) 1
2) 2
3) 3
4) 4

2[Option ID=37830]
3[Option ID=37831]
4[Option ID=37832]

Arrange the following concepts in chronological order according to their evolution.

Freaferfi BT (SRS F ST S (39) F 9 # s A

1[Option ID=37829] Question Description : political_science_political science _set 1_english_q83

prepp

Your Personal Exams Guide

Sl. No.84
QBID:12084

A. Checks and Balances

B. Codification of Law

C. Political Separatism

D. Constitutional Monarchy

Choose the correct answer from the options given below :

L. (C). (B). (A). (D)
2.(A). (B). (C). (D)
3.(B). (C). (A). (D)
4. (C). (B). (D). (A)

(1) 1

(2) 2

3) 3

@) 4

Chronologically arrange the features of constitutionalism as they developed over period of time.
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dfraran #i Ffaiaa BRvasm #1 38 Fawd § =zaead FIf9, Jeiis 3 @959 5 a9 GHEea 5
21l

A. Ty & lillﬂ{ﬁ;l

B. fafer =1 @fzarson

oY
C. A3-lTdse T aehdlalg

D. G Teias
J9 72U U faeed 5 8 98 ST W 9Ee i

1. (C). (B). (A). (D)
2. (A), (B), (C), (D)
3. (B). (C). (A). (D)
4.(C), (B). (D), (A)
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37833] Question Description : political_science_political science _set 1_english_q84

2[Option ID=37834]
3[Option ID=37835]
4[Option ID=37836]

Sl. No.85
QBID:12085

Asrrange the following directive principles of state policy in a sequential order as mentioned in the Constitution of India.

A. Equal pay for equal work for men and women

B. To secure a uniform civil code throughout the country for all citizen
C. To promote equal justice and to provide free legal aid to the poor
D. Separate the judiciary from the executive in the public services

Choose the correct answer from the options given below :

1. (A), (B). (C) and (D)
2. (A). (C). (B) and (D)
3.(C). (A). (B) and (D)
4. (D). (B). (C) and (A)

1) 1

) 2

(3) 3

(4) 4

usg &I Hifa & frafafaa R acl #1 andia dfram 5 3% 339 % S9an S5 9 =gafead fifsu)

A, T6Y UF Aizcisti &l THF wE 2q a9H Ja]

B. gt AFTieR & fou 9@ 291 # us gEE AnTieE dfgar ang

c. fHda % fau g9 =@ = 53 241 ud qed (s ag@Edn 3aE |
D. T% TATSAT H TR H FHET AR § TIE|

Ji= fZu U faeT 5§ 9@ I R 9gH i

.(A), (B). (C) ¥ (D)
.(A), (C), (B) F (D)
.(C). (A), (B) 1 (D)
.(D), (B), (C) S (A)
(1) 1
2) 2

(3) 3
(4) 4

—_

o]

W

1[Option ID=37837] Question Description : political_science_political science _set 1_english_q85
2[Option ID=37838]
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Sl. No.86
QBID:12086

Arrange the following movements in chronological order.

A. Chipko Movement

B. Jal Satyagrah

C. Appiko Movement

D. Tan Lokpal Movement

E. Narmada Bachao Andolan

Choose the correct answer from the options given below :

1. (B). (C). (D). (E). (A)
2.(A). (C). (E). (D). (B)
3.(D). (C). (A). (E). (B)
4. (C). (A). (D). (B). (E)

1) 1

) 2

(3) 3

(4) 4

fafafiga ArEeAl i FFAER 21 8§ =Zateda S|

A. FaeT seEeH

B. Sl dcAWE

C. ufteRl AFETAA

D. SHATHRITA ATE A
E. 9971 1Al AE A

di9 72U U faemed 5 O 98 ST 1 9E i

1. (B), (C). (D), (E). (A)
2.(A),(C), (E), (D). (B)
3.(D).(C). (A). (E). (B)
4.(C). (A). (D). (B). (E)

1[Option ID=37841] Question Description : political_science_political science _set 1_english_q86
2[Option ID=37842]
3[Option ID=37843]
4[Option ID=37844]

Sl. No.87
QBID:12087

Asrange the following experiments of Elton Mayo in chronological order.

A. Relay Assembly Test Room Experiment
B. Illumination Experiment

C. Mass Interview Programme

D. Bank Wiring Experiment

Choose the correct answer from the options given below :

1. (C), (A). (B) and (D)
2. (B). (A). (C) and (D)
3.(C). (B). (A) and (D)
4. (D). (A). (C) and (B)

(11

) 2

(3) 3

(4) 4
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Ured A1 & HEAfafEad SET il FIAEHEAR 2 ° FaEdd i)

A T geed] oo w1 wggEe

B. SegfHHTIH UFAUHE

cn?asewyﬁ;rr&r

D. 5% AET TFHUHIEE

J9 f7u U e 5 9 9E ST R 9E il

1.(C). (A). (B) 3T (D)

.(B). (A), (C) S (D)
3.(C), (B), (A) 3 (D)
4. (D). (A), (C) 3T (B)

1 1
(2) 2
3) 3
4) 4

o]

1[Option ID=37845] Question Description : political_science_political science _set 1_english_q87
2[Option ID=37846]
3[Option ID=37847]
4[Option ID=37848]

Sl. No.88
QBID:12088

Arrange the following Anti-Corruption measures taken by Government of India in chronological order

A Ratification of the United Nations Convention Against Corruption (UNCAC)

B. Black Money (Undisclosed foreign income and assets) and Imposition of Tax Act
C. The Prevention of Money Laundering Act

D. The Benami Transactions (Prohibition) Act

Choose the correct answer from the options given below :

1.(D), (A), (B). (C)
2. (D), (C), (A), (B)
3.(D), (©), (B),(A)
4. (D). (B). (C)., (A)

1 1

2) 2

3) 3

4) 4

i

G TR AT 321U MU fafafiad e SRt @20 (SUrEl) #1 FIaswar 210 8 =9afeaq i)

A. HETER % foeg &g 0y Afqasa (A = u =) F1 Agemea
B. hIcTl &4 (A7q fa2sft o7 qun af@uf) qon s sifafas

C. gaeieH faamor sifafag

D. sHMHI gegasr (ufane) sAfaf-=m

Ji9 fZu U fAeedt 5§ 9 I 0 =g i

1. (D). (A). (B), (C
2.(D),(C), (A), (B
3.(D). (C), (B). (A

(A

)
)
)
4. (D). (B). (C). (A)

1[Option ID=37849] Question Description : political_science_political science _set 1_english_q88
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B. Degert Eagle-II
C. Table Top
D. Samvedna

1) 1
2) 2
3) 3
(4) 4

A Z3EN-IV

. éﬁ! d 2™
D. 937

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=37853]
2[Option ID=37854]

3[Option ID=37855]
4[Option ID=37856]

A. Indradhanush-IV

B. 29¢ A-1I

List chronologically the joint exercises conducted by Indian Air Force :

Choose the correct answer from the options given below :

1. (A). (B). (C) and (D)
2. (B). (C). (D) and (A)
3.(C). (D). (A) and (B)
4. (D). (A). (B) and (C)

WA ATGEHT gRT [T 0 G STHA1al 1 HIcsHHIaR geiag shifag|

= f2u o faeTt 5 @ wE s =g fifs

1. (A). (B). (C) 3 (D)
2. (B). (C). (D) T (A)
3.(C). (D), (A) 31T (B)
4.(D), (A), (B) 3T (C)

Question Description : political_science_political science _set 1_english_q89

Sl. No.90
QBID:12090

A. Ufa. Russia

Arrange the following BRICS sumumit in a chronological order :

B. Johannesberg. South Africa

C. Durban. South Africa

D. Beijing Virtual Summit

Choose the correct answer from the options given below :

1. (C). (A). (B) and (D)
2. (B). (C). (A) and (D)
3. (A). (B). (C) and (D)
4. (D). (B). (A) and (C)

1) 1

) 2

3) 3

@) a
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feafafaa frea firer el +i 395 AESH & FH |5 Aty i)

A SHT, &4

B. SEHHsT, Zfeq07 A5k
C. TTEM, Afeaur sk

D. dlifa Aqsa afrie

J9 f7u U e 5 9 9E ST R 9E il

fa—

.(C). (A). (B) 31T (D)
.(B). (C). (A) ¥ (D)
3.(A). (B). (C) ¥ (D)
4.(D), (B), (A) S (C)

1 1
(2) 2
3) 3
4) 4

o]

1[Option ID=37857] Question Description : political_science_political science _set 1_english_q90
2[Option ID=37858]
3[Option ID=37859]
4[Option ID=37860]

Sl. No.91
QBID:12091

Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

= feriem mare it ug 2 35k =1 UvA % IR i)

ATTAIFAT HI AcCATF Tohfead AN Hfead wiw & Fatra oz smar 2, 59 asHifas 759 A aeHias
FAITAT o SESHT % HIEA9 8 |10 T@1 F1a1 21 508 EA & azdl 6 i & fau aeHifas 2ai w
SH-WTEA F1 TN F 5T SHAT B A (BAT ST 81 SAfaT@sars § a0 & qiq His | wwe fFu
forr sAsTe i sUe, 5@ fagaE & g i At 2 6 g8 amEfas sgaEar f §EY wge S -
SHFEATT 1 UFRAH % ol HEcaqol 2| SHH BACHF [HaqiAl o A0 & (o0 ST I fasiag f#u 7
&1 7, A 91 AT A F AT T, A A THq F HE A1 G & TRl &l SAaTEsAT
TIHR] H UE: Ja1edl & T909 Ud SfaeTdicns Yo a1 SAYcas 91 91 A1 1 SA9TE g1 2l J Ak U
A=at® Fi waasar S AnTeE Sams @ H o wadl 21 auEE) o Aifbe 9 5  eediiEs
HENAT, FY-TSHIq% Zell, TO7% AL FAE Rl AT L hd 8 qiis FII0 a91 AUTaETaicds qiihi
d TAE % HIEAH W qEENE A6 SEEr 5 ol

Which of the following is not a characteristic of an authoritarian regime?

1. Nominally democratic institutions.
2. Uncompetitive election of leadership.
3. Mobilisation of people for attainment of regime’s goals.
4. Use of mass organization to strengthen democracy.
(1) 1
2) 2
3) 3
(4) 4
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fafafad 9 4 Sl sfaamEsar wad 6 us fHewar 18 87

1. 914 &Y § dAlehdie &0
AT T SANETETE T § A
MG % @7l 9T & AU SHaT S dmEees

3
4. AIRaa hl A & AU -Gl 1 9FnT HEAT
) 1
() 2
(3) 3
(4) 4

[

1[Option ID=37861] Question Description : political_science_political science _set 1_english_q91
2[Option ID=37862]
3[Option ID=37863]
4[Option ID=37864]

Sl. No.92
QBID:12092

Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders” or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

Feferas TeneT shi 9g 37 $E%h W1g TIF % I U

AMIAEFATE Tl ACHARIF ohiead AN Fivad 6 A (A= = Sr 2, 59 usHifas =599 31 aeeiias
FAIGET & FESH & H19H O 10 [G1 G121 356 9 5 a4 i 91 F e aeEiias 2al o
SH-TEA F ST FA §Y ATq1 Fl AFGE [FA A1 21 AfaAEEAE § oo # qid Fi o 5w
forr st Fi U, sa favaE & @iy i At 2 fF 98 At Sqaedn Fi SA W S -
SIAEAAT <l UHAH F U Fecaqul 2| I ®rcds (9aarell & 99 % (AU 3+ T (G (e 1
&1 7, A 91 89 TEA F AR T, G HAA THT H HE AT G & Tl 6l AaTEaEAT
TEHRT H 9HE: Hd1edl & a9 UF SfaeTdicns Soded 91 STcas IAE A1 Al 1 A9 aldl al 4 91 uE
Ar=at® Fil Saasar S ArTieEs Sans w H e wadl 21 auEn o iEe 9 5 dendiEs
TEATEAT, A -TSHd% Zcl, Ta7% AR A H AT FTHd 2 dlh FII0 q91 AIaeTaicash il
" TAE F ATAE A qEEE R A9 ZEUEn ST A

Given below are two statements :

Statement (I) :  Authoritarianism demands unquestioning obedience to authority.

Statement (II) :  Authoritarian governments often lack free and competitive election of leaders.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement (I) and Statement (II) are true
. Both Statement (I) and Statement (II) are false
. Statement (I) 1s true but Statement (II) is false
. Statement (I) is false but Statement (II) is true
(1) 1
(2) 2
(3) 3
(4) 4

oo

S Y
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= = FuE fFu o #
F94 (1) : SAfTEFAT § a1 &+ Ufd #i3 o a9 feu fomn st 6 ser B St 21
F9 (11) : AfGAEFATE ATFR H UE: Jd1e1 & F9a9 U4 Siaedicds JAaE i SAH9E g 2|

STUT FI4 % A 3, A 70 70 At § @ @@t 3T %1 99 Hifaw

A (1) &R (1) 3 @cF 8

T (1) SR (1) AFT e 3

3. %9 (1) @cd B, Al %94 (1) @ca
4. %99 (1) 904 2, Al &9 (1) Tcd
1) 1

) 2

(3) 3
(4) 4

[a—

]

2
2

1[Option ID=37865] Question Description : political_science_political science _set 1_english_q92
2[Option ID=37866]
3[Option ID=37867]
4[Option ID=37868]

Sl. No.93
QBID:12093

Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

F=fafeEe T #it g R 39 =18 Ty % I i)

AMITEFATE Tl AT ohiead AR Fiwad 3106 d At = sen 2, 58 usHifas 299 31 aeeias
TAITAT o STESHT % J1599 8 S0 [@1 J1a1 21 3596 WEE & asdi i i & fau aeifas ol o
SH-FTEAl F ITEN A §Y ST Fl A [FAT AT &1 SAAEEAT § 801 & 0id i S e
farr sArsares i e, 58 fAvaE & @i i At 2 g8 At A Fi SA0 W S -
SqFEqaT <l UFHAH & U Facaqol 2| I =arcds [9aareAt & 99 & (au = 959 (S (e 1
&1 79, a1 91 A9 A F ATIR T, A SFEAE TR F FE AT TdA & TRt &l SATIaEsATa
IR H U Ja1eAl & $909 U GiaeTdicas Soaa 91 SAucas 99 91 A1 B A9 g 2l F Ak U
Alq=g® Hi SaaAar SE e Saa /G0 w@dt 81 auEn U5 A1HE 89 3 AlRdiEE
TETEAT, A -TSHIdh Aal, Ta7% A T H A FTHd 2 dlh FII0 q91 AT e il
A TAE %+ ATEE A A R A9 SEtEn ST A

Why authoritarian regimes command unreasoned acceptance of their political authority?

. To strengthen democratic ideals

. For enhancing civil liberties

. For constitutional governance

. For preventing political disruption

o =

V]

1) 1
(2) 2
3) 3
(4) 4
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ATGAEFAR T SFFEAT F A ToIaes a1 Fl A SFEar 1 A= 2di 27

1. i Al q9"d FH & faQ
2. AT SFAFATA| % HAET F g

3. g @A % fag

4. Tifae Fed-=aEaar $1 THa™ & fau

1 1
) 2
3) 3
4) 4

1[Option ID=37869] Question Description : political_science_political science _set 1_english_q93
2[Option ID=37870]
3[Option ID=37871]
4[Option ID=37872]

Sl. No.94
QBID:12094

Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

Fr=fafea T #it ug ot 39k =1 wvA % IR i)

ARIAEFATE AT Ahiad A1 Fiaa tw & fata o S 2, 58 asEifas =99 0 aeeifas
TAITAT & FETHT F TIE9H U =10 [T G121 SHH T F TE40 i T F [0 To-1a% 2l 0
SA-TEA F STER F §Y TN F AHEE [HAT A1 2| SAAEEAR § 9 % 9| FiE @ 7 R
far1 s i e, 38 favaa & g f A 2 6 98 gl S3aEdn il 990 T S o -
=qFEqaT <l UFHIH F U Feeayul 2| 37 ®rcdes [99arell & a9 & fau = g% faba feu 1
21 79, qa1 A1 AT A F TR W, WA SAEIN T F R A cdd @ & aedt 8| At
TLFRAT § WHE: Ha1e1l & FA09 UF aeTdies Sedsd 91 STIedsd JAE J1 31 1 ST9E B 8l F AT 0
Af=AtE it TAaFar JE T Sraaet ® ot e wadt 8| aE as EE ' 5 i
EISl, IY-TSAfaF 2, G097 A FAE F AfEfad FaFd 8 s FII0 a9 Aufaerdaiers i
U T & AIAH A TG Rl A9 ZEET ST A

Authoritarian regimes legitimise their dictatorship through which of the below methods?

A. Through periodic fair elections.

B. Through competitive election of leaders.

C. Through deceptive and indirect elections.

D. Through blocking opportunities to potential challenges

Choose the most appropriate answer from the options given below :

1. (A) and (B) only
2. (B) and (C) only
3.(C) and (D) only
4. (A) and (D) only

1) 1

(2) 2

3) 3

(4) 4
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frefafaa & @ T uzfadi + aeag @ sfaamEsard! ee =9aE40 S aHEmE! B A9 J4d 27

A. SATETaE foae gAE & A 9

B. HATAT % WlaxTeied®: JH1F o AT o

C. FRYY AR AT TAH F HH °

D. §H1=3 FHIGAT 29 ST Fl U & ATAH U

= fzu o fasedl # @ A9y S9® ST H1 99 I

Fad (A) S (B)
aﬂ?—r(moﬂr(m
3. %4d (C) A1 (D)
4. %4 (A) AT (D)

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=37873] Question Description : political_science_political science _set 1_english_q94
2[Option ID=37874]

3[Option ID=37875]

4[Option ID=37876]
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Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

fmferfaa Tamer &t ue 3R 5@ =g U9 o 3T S|

ATTAIFAT HI ACATF Tohfead AN Hfead wiw & Fatra oz smar 2, 59 asHifas 759 1 aeHias
FHITAT o SESHT % HIEA9 8 SHI0 T@1 J1a1 81 508 wEE & azdi 6 i & fau aeHifas 2ai w
SH-TTEA 1 ST FAd §U SHAT B AW [hAT STl 81 SAAEaArs § w01 6 qiq #i | wwe fFu
forr sty i e, 59 faveE & @i i At 8 fF 98 aeEtas saaEdr $i SET T ST -
SHFEAAT 1 THIH % ol Gecaqol 2| SHH 9T [99qiel & a0 & (ol 7+ 9 faskiag f#u 7o
&1 7, A1 A1 AT A F AT T, A AU THq F HET AT G & TRl &l SAaTEasEAT
HIHR] H UE: Ad1eA & T9a9 Ud SfaeTdicns Yo a1 SAUcas 91 91 A1 1 SA9TE g1 21 J Ak U
Ag=at® $i waasar S AnTeE sams w H e wadl 21 aumEE o e 89 5  eediEs
HENAT, IS qF Zell, TO7 AL FAE Fl AT L Thd 8 qiis FII0 a9 AUfaeTaicds aii
U IAE % HIEA9 U qEEE A Za0ar 9 el

What remains the status of civil liberties in authoritarian regimes?

Remain as freely available as in democratic regimes.
Their status remains unchanged.

They are respected more.

All the above are false.

e

el

1) 1
(2) 2
(3) 3
(4) 4
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1. 3H ®9 ° a7 Edl 8 S (o drwdii s e sqaEiETi g
2. 391 IR syfeafda = 21
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4. 3 @l Tad 2l
1 1
(2) 2

3) 3
(4) 4
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago, Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scienfific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

F=fefea e #i afed @R 3E@ wefed Tyl o 3T T

ATHYINEA TFHIRIC H1 [A99 2| ATEad H, 369 Aad [Hiar iararal aidl @ 2, feeq sl nfafataal @23 us
2| AEE i 9, St ud 73 3fE & A SR, g9 S ST & i @9 & HEE | 19
4 2 ganfa @ dia wsavn ger| forselt adt & 20, arFneEE § @9 % e Afq afFa arE § w5 % of
AEcaUl qiEdd A= | Fe 30 A9 4, A1eEl (1968) A 98 9 {3 39 9 18 a0l 4 U s, S i
SHh TEEH % Hhe i Gldisisia [FA1| a4 al, M & H6HE AR UF 59919 & &9 § dieh Y96 & AW
g 1t @eha e 8 (fam, 1996) 1 var udia grar 2 fo ot 21 =ff @dt & smw 5, die gemas 1 fmior o1
7z oqd fava & SAFrHE aredl AN SATEREdisl & 454 A -faar F v 2, S 39 U Acata® s A
At afarg sted-=ame SR sgfF AT | 30 afadal & &3 B s s A e wEd 2 9w o
& HE 5 FAIGAT T FAT 2| FAEG TAiTH FEcad FHY SH HRATE AR [UETT AEHE FERA 8§ T
ot % o1t faeqa AisEr 9 F TS FAT 21 SATTH AN i S 5 oA Ggia Gl & 5o
AT &3 AT qah AT [Feqa e gushi & g |

I AR T AAR-{AEE S suErl &9 | 71 fHiHtaat & uhie i Siteaarsi & arg-arg AAEa F
TH Fa1 21 [, 9 O FH T 2 W oA U9 2 : 98 98 (% il %l Saal AEg S SAEvdsal 2l anm
FIA TEEH F A STUE B, S UEET S AR T9E JaEA e ° aiiud & FAd 3@ sEal At
FAF & AR AT TFF UF HHG H 38 TS+ gt &7 H 95 aFd 21 98 F0AE 899 F ATIET A W
AT TR FH T TEFT 2

=T il i ST SAH AHEE G971 AR & A9 Gad, T Fad dill & 79§ AfG A aad | H, q5e
T ATHA FL @ 8| Z7 G H AR A J, A ST % 3@ 1 UA T as8 B T G A
What is the main reason for a major role of Public Administration in future?

1. Scientific thinking among people
2. Citizens are static
3. Citizens are more active due to political complexity
4. Fall of relation between state and citizen
)1
(2) 2
(3) 3
(4) 4
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AT § & 9T F T qiFE g R A 8

1. STl = s A T

2. AmTie fem 2

3. ST SreaTdl % HI AT ATdE qiFd 2
4. 759 U4 ANTHE & g94 | iREe

1) 1

) 2

3) 3
(4) 4

1[Option ID=37881] Question Description : political_science_political science _set 1_english_q96
2[Option ID=37882]
3[Option ID=37883]
4[Option ID=37884]
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago, Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scienfific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

Fmfafea T &t ufed @it see =t gvai & 3w it

ATHYINEA TFHIRIC H1 [A99 2| ATEad H, 369 Aad [Hiar iararal aidl @ 2, feeq sl nfafataal @23 us
@ 2| A i 9, sigies w57 3 % Al smte, g ot s & @i @ & HeE § 19
4 2 ganfa @ dia wsavn el foselt ot & 20, arFneeE § @9 % s Afq afFa arE § w5 % of
AEcaU] qiadd A | Fe 30 A9 4, Jeel (1968) A 98 Tl {5 59 9 18 ®IaO0n 4 Uk s, S i
SHh TEEH % Hhe i Gldisisia [FA1| a4 al, M & H6HE AR UF 59919 & &9 § dieh Y96 & AW
gy i | Goba frar 2 (fad, 1996) | war wdiq aiar 2 {6 e1ra 21 & @dt & I |, s 99mas & i o1
7z oqd fava & SAFrHE aredl AN SATEREdisl & 454 A -faar F v 2, S 39 U Acata® s A
At afrg sied-=amean SR sgfF AT | 30 afadal & &3 A s s A Swe wd 2 9w o
& HE 5 TAIGAT T FAT 2| FAEG TATH FEcad FHY SH HRAT AR [UETT AEHE FERA T
et % otfere faeqa AisEr A F ChiEd FAT 2| SATTHI AN § i e 1 oA Ggia el & 59
AT &1 AT gk AT [Feqa e gushi & g |

I AR T AAR-{AEE S suErl &9 | 71 fHiHtaat & uhie i Siteaarsi & arg-arg AAEa F
TH Fa1 21 [, 9 O FH T 2 W oA U9 2 : 98 98 (% il %l Saal AEg S SAEvdsal 2l anm
FI TEEH F A STUE B, SUEET S SR I9E JEA e 9 aiied & FAd F@ sEal At
FAF 2 AR FAq9 dFF UA HHG A 38 TS & gt 470 H 95 aFd 21 98 F0AE 899 F ATIEST A W
AT TR FH T TEFT 2

=T il qHH S SAHT AHEE G AR & A9 Gad, T Fdd dill & 79 § Afq A6 b0 | 4, q5e
T ATHA FL @ 8| Z7 G H AR A J, A ST % 3@ 1 UA T as8 B T G A

Who among the following has identified the transition of Public Administration to a profession?

1. Dwight Waldo
2. Woodrow Wilson
3. Lynn
4, EM. Marx
1) 1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=37885] Question Description : political_science_political science _set 1_english_q97
2[Option ID=37886]

3[Option ID=37887]
4[Option ID=37888]
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago, Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scienfific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

Tt e &t ufed @it sew Fsfaa gvai & 3w it

ATRYINEA TFHURIC 1 [A59 2| ATEad H, 389 Aad [Hiar araral aidl @ 2, feeq sl nfafataal @29 v
@ 2| A i 9, sites wd g7 3 % Al smte, g ot s & gt @ & HeE | 19
4 2 ganfa @ dia wsavn el foselt ot & 20, arFneeE § @9 % s Afq afFa arE § w5 % of
AEcaUl qiadd A | Fe 30 39 4, Jeel (1968) o 98 T {3 59 9 18 ®IaO0l 4 Uk s, S i
UF TEAH & TFe Fi Gldletsd [Fa1| e Fell, M & HHE A7 UF 99093 & &9 § die Y98 & A9
oy | Toba fRar 2 (fad, 1996) 1 war wdiq giar 2 f <1t 21 o @dt & s |, dis gsmad & i o
7z oqd fava & SAFrHE aredl AN SATEREdisl & 454 an-faan F v 2, S 33 U Acata® s A
At afrg sied-=amean SR sgfF AT | 30 afadal & &3 A s s A Swe wd 2 9w o
& HE 5 TAIGAT T FAT 2| FAEG TATH FEcad FHY SH HRAT AR [UETT AEHE FERA T
ot % otfere g Aisar A F ChiEd FAT 2| SATTHI AN i e 5 oA [Ggia 8l & 5o
AT &3 & A gah At [Feqa e gushi & g |

I AR T AAR-{AEE S suErl &9 | 71 fHiHtaat & uhie i Siteaarsi & arg-arg AAEa F
M FaT 21 e, F9 8 FH Th 92 T S8 9 2 : 98 98 6 AN 6l Saqt A1F=mal £ SAEyaswan 2| an -
FI TEEH F A STUE B, SUEET S SR I9E JEA e 9 aiied & FAd F@ sEal At
FAF ¢ AR FAqH dFd UA HHG A 38 TS & gt 470 H g aFd 21 98 F0AE 899 & ATIEsT A W
AT TR T TEFT 2

=g il T S SAHT AIHETE G AR & A9 Gad, 7 Fodl il & 79 § Afq A6 b0 | 1, q50
T ATHA FL @ 8| Z7 G H AR A J, A e % 3@ 5 UA T as8 B T G O A

Which among the following statements are not related to the transition of the discipline of Public Administration?

1. Accurate self-definition
2. Changes in the modern life
3. Extensive scientific recognition
4. Economic and Financial Crisis of the Markets
(1) 1
(2) 2
3) 3
4) 4
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freafafaa woml § @ =E diF gwned Avg & gau g getad T8 87
1. UfElg STE-aRymT

2. ATGfF S § afad

3. =9k AANHE ATHHAH

4. &SI =1 A uA faedfig a2
(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=37889] Question Description : political_science_political science _set 1_english_q98
2[Option ID=37890]
3[Option ID=37891]
4[Option ID=37892]
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago, Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scienfific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

Fmfafea T #t gfed @it sew =t gt & 3w it

ATHYINEA TFHIRIC H1 [A99 2| ATEad H, 369 Aad [Hiar iararal aidl @ 2, feeq sl nfafataal @23 us
@ 2| A i 9, sigies w57 3 % Al smte, g ot s & @i @ & HeE § 19
4 2 ganfa @ dia wsavn ger| forselt adt & 20, arFneEE § @9 % e Afq afFa arE § w5 % of
AEcaUl qiEdd A= | Fe 30 A9 4, A1eEl (1968) A 98 9 {3 39 9 18 a0l 4 U s, S i
SHh TEEH % Hhe i Gldisisia [FA1| a4 al, M & H6HE AR UF 59919 & &9 § dieh Y96 & AW
g 1t @eha e 8 (fam, 1996) 1 var udia grar 2 fo ot 21 =ff @dt & smw 5, die gemas 1 fmior o1
7z oqd fava & SAFrHE aredl AN SATEREdisl & 454 A -faar F v 2, S 39 U Acata® s A
At afarg sted-=ame SR sgfF AT | 30 afadal & &3 B s s A e wEd 2 9w o
& HE 5 FAIGAT T FAT 2| FAEG TAiTH FEcad FHY SH HRATE AR [UETT AEHE FERA 8§ T
ot % o1t faeqa AisEr 9 F TS FAT 21 SATTH AN i S 5 oA Ggia Gl & 5o
AT &3 AT qah AT [Feqa e gushi & g |

I AR T AAR-{AEE S suErl &9 | 71 fHiHtaat & uhie i Siteaarsi & arg-arg AAEa F
TH Fa1 21 [, 9 O FH T 2 W oA U9 2 : 98 98 (% il %l Saal AEg S SAEvdsal 2l anm
FIA TEEH F A STUE B, S UEET S AR T9E JaEA e ° aiiud & FAd 3@ sEal At
FAF & AR AT TFF UF HHG H 38 TS+ gt &7 H 95 aFd 21 98 F0AE 899 F ATIET A W
AT TR FH T TEFT 2

=T il i ST SAH AHEE G971 AR & A9 Gad, T Fad dill & 79§ AfG A aad | H, q5e
T ATHA FL @ 8| Z7 G H AR A J, A ST % 3@ 1 UA T as8 B T G A
Qiveis Below e T Slatcrncnits S ORE 1o s belld e Arscrtion (A) End e ot i 13 bellod as Beanon ().

fl::;e:;mn (A): Infuture, Public Administration will be asscssed with scientific tools viz: performance indicators and high standards of

Reason (R): The impact of public choice and NPM is more on the present day Administration.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) is correct

(1) 1
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) 2
(3) 3
4) 4

= Fﬁ Bk ﬁ":‘ Wg : Ush AGFIT (Assertion (A)) % &9 4 fafad % qt GHI 3H% I (Reason (R))
FETH

AMFIA (A) : AT H, ATFIEA F1 HedThA AAME STROT A9 HeaE gul o 3= Aedhiad
Rz g gim|

F1T (R) : A% [F%ed U4 UF df UF %1 YHTE Fq9H 99 & YIEE W A 2|

I HIA & AT o, = 75U 70w § g9y S9E IO H 98T S

1. (A) &t (R) M1 @@ & &0 (R), (A) Fi @& =amen 2

2. (A) &1 (R) 71 @@l 8, dfA (R), (A) = @t =awen 781 2
3.(A) @&l 8, df (R) @l 481 2

4. (A) @8l & 2, dfFa (R) @8t 2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37893] Question Description : political_science_political science _set 1_english_q99
2[Option ID=37894]

3[Option ID=37895]
4[Option ID=37896]

Sl. No.100
QBID:12100
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago, Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scienfific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

Fmfafea T #t gfed @it sew =t gt & 3w it

ATHYINEA TFHIRIC H1 [A99 2| ATEad H, 369 Aad [Hiar iararal aidl @ 2, feeq sl nfafataal @23 us
@ 2| A £ 9, sigties w57 3 % A smte, g St s & @t @ % HeE | 19
4 2 ganfa @ dia wsavn ger| forselt adt & 20, arFneEE § @9 % e Afq afFa arE § w5 % of
AEcaUl qiEdd A= | Fe 30 A9 4, A1eEl (1968) A 98 9 {3 39 9 18 a0l 4 U s, S i
SHH TEEH % HHe i Gldisisia [FA1] a4 al, M & H6HE AR UF 59919 & &9 § dieh Y96 & AW
g 1t @eha e 8 (fam, 1996) 1 var udia grar 2 fo ot 21 =ff @dt & smw 5, die gemas 1 fmior o1
7z oqd fava & SAFrHE aredl AN SATEREdisl & 454 A -faar F v 2, S 39 U Acata® s A
At afarg sted-=ame SR sgfF AT | 30 afadal & &3 B s s A e wEd 2 9w o
& FHA 5 TAGET TSI FAT 2] FAEG TAH Hacad Y 51 HRAT AR [UETT AEHE FERAT § T
ot % o1t faeqa AisEr 9 F TS FAT 21 SATTH AN i S 5 oA Ggia Gl & 5o
AT &3 AT qah AT [Feqa e gushi & g |

I AR T AAR-{AEE S suErl &9 | 71 fHiHtaat & uhie i Siteaarsi & arg-arg AAEa F
THA Fa1 21 [, 9 O FH Th 92 W oA U9 2 : 98 98 (% il %l Saal AEg S SAavdhal al anm ;
FIA TEEH F A STUE B, S UEET S AR T9E JaEA e ° aiiud & FAd 3@ sEal At
FAF & AR AT TFF UF HHG H 38 TS+ gt &7 H 95 aFd 21 98 F0AE 899 F ATIET A W
AT TR FH T TEFT 2

=T il i ST SAH AHEE G971 AR & A9 Gad, T Fad dill & 79§ AfG A aad | H, q5e
T ATHA FL @ 8| Z7 G H AR A J, A ST % 3@ 1 UA T as8 B T G A
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Identify the correct option among the following statements related to the discipline of Public Administration.

A. Public expects good and skillful administrator

B. Public expects quality of services

C. Public expects effective management of institution

D. Public wants to continue with the present model of bureaucracy

Choose the correct answer from the options given below :

1. (A). (B) and (C) only
2.(A). (B) and (D) only
3. (A). (C) and (D) only
4. (B). (C) and (D) only

1 1

(2) 2

3) 3

(4) 4

AT T @99 & geitad Herargd $9491 5 9 gal HeFed i =ed i

A, AT ol =3 01T FH9Ie TIEH H AU 2
B. STl i ORI darsti i sque 2
AR =l AT & T9TE Y=raq =l 30 2
D. ART ATl % Iq9H T & 19 &1 AN 5741 =91ad 2l

Hre f2u o fawea § @ ot 3T 1 =Ee it

1. %ad (A). (B) 3K (C)

2. %A (A), (B) R (D)
3. %A (A), (C) R (D)
4.%ad (B). (C) 3R (D)

1) 1
(2) 2

(3) 3

4) 4

1[Option ID=37897] Question Description : political_science_political science _set 1_english_q100
2[Option ID=37898]

3[Option ID=37899]
4[Option ID=37900]
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